B4 ERHPEREEGRR/

b —

F5H—

et EXO0

HIREHELIE--ER: 4F (RRIEE AF->4F)

PNA21-01-#&[8: 4F , #4t5R: C27, RIEFHR: 20 [X5:-75,Y19:-144] R~f: 80 cm * 90 cm , 45 380.0 cm

#8 EHA(EE- L EE (380+0.00)*16/100 60.80
[_ ¥E)- 2 5+ Q0RE 8 S84
TE(MBHE[EE=0)
#4 sMERR- £ T i 5V R EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g £ FHEEE= Int(((380-70)/2)/10.0)+1=16
+ T4 K= 335.8%16/100=53.72 M
#4 VAR il LipdesE 5\ & BE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh SR 5B B8= Int(((380-70)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 sMER-BRE 5V R BE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEBEHERE-KERE | XCOKP)MEE(FRE)= (80-2*[{RERE]4+2*[135E E4$7]13.9)
7 | EA *2=199.6 )
Y(EE)AREE(F )= (90-2*[{REB]4+2*[135F #4$4]13.9)
*2=219.6
#4 B5- LT #4_F T B 8= Int(((380-70)/2)/10.0)+1=16 67.1
<7 E TR R= (199.6+219.6)*16/100=67.1 M
#4 Bin-rp i #4h R IHE 2= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QiR = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HARBZEHER=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESE:

BRI GRNXH#X ($B2)X-#X
ARBHIH:(HR1)16-#8 (FH2)X-#X
EERE(1)M:8-T16%

BT E:

FHEHR:(80+90)*2*380/10000=12.92 M2

HEEEAR RO

%:158:-(G27) 45*70/10000=0.32
%:2;8:-(B19) 45*60/10000=0.27
%:358:-(G27) 45*70/10000=0.32
%:458:-(B20) 45*60/10000=0.27
BLE/INEE1.17 M2

HEhREEAR MR O PR

%:1i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/NEH:0.2240 M2

RS E AR RO PR

EHEE:1 (B E)-:B19=15%(380-60)/10000=0.48
E RS 2(FRE)-:B20=15%(380-60)/10000=0.48
Ll E/NEH:0.96 M2
FERRAEET:12.92-[FE R AT HE]1.17-[#E R 32 $]0.22- [ 15 38 4%]0.96=10.57 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3
-------------- FHEER/DNE -

et HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$RR/INET =04971 T

BAR/NET(E) = 10.57 M2

BEE /NG = 2.736 M3
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PNA21-01-t8[2: 4F , #18%: C34, fIE FFoE: 33 [X6:-90,Y22:-249] R~f: 90 cm * 80 cm , #&: 380.0 cm

#8 EH(FE1HR-— AR B): (380+0)*16/100 60.80
| 5+ 15 (Lo ) (RIS
[#E$#=0])
#4 SV R- £ T i 5\ = (5 2)= (90+80)*2-8%4+2*13.89=335.8 57.08
g £+ THEE2= Int(((380-60)/2)/10.0)+1=17
T4 K= 335.8%17/100=57.08 M
#4 SMEFR-h R 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
g rh g 45 Bl 4= Int(((380-60)/2)/15.0)+1=11
bR fERE R = 335.8%11/100=36.94 M
#4 SN ER-RE 5\ E (5 2)= (90+80)*2-8%4+2*13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
BHEBEHRE-KERE | XCOKPF)AEE(F )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
<7 B *2=219.6 )
Y(EE)ARE(HRE)= (80-2 [REB14+2*[135E & £4]13.9)
*2=199.6
#4 B5- LT #4_F T S= Int(((380-60)/2)/10.0)+1=17 71.3
<7 L+ TimfER= (219.6+199.6)*17/100=71.3 M
#4 M- R #4rh R B BE= Int(((380-60)/2)/15.0)+1=11 46.1
<7 rhRif#E R = (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HARF [ERER=(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1

s R

TR (R1)16-#8 (FH2)X-#X
ARBHIH:(HE1)16-#8 (FH2)X-#X
1EERE(1)40:8-8*16%

BT E:

FHEHR:(90+80)*2*380/10000=12.92 M2

HEEEAR RO

%:1;8:-(B28) 45*60/10000=0.27
%:2;8:-(G36) 50*60/10000=0.30
%:358:-(B28) 45*60/10000=0.27
L E/NET:0.84 M2

HEMREEAR MR O BR:

%:1i%:30.00%16/10000=0.0480
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
LL_E/NEH:0.1600 M2

RS E AR RO PR

E 1 (FRE)-:B28=15%(380-60)/10000=0.48
E RS2 (B K )-:G36=15*(380-60)/10000=0.48
E RS 3(FRE )-:B28=15%(380-60)/10000=0.48
L E/NEE:1.44 M2
FEhRAEET:12.92-[FE R 3 $£]0.84-[#F iR 32 $10.16-[4E 15 38 $%]1.44=10.48 M2

RC:tH&E:

90*80*380/1000000= 2.736 M3
-------------- FHEER/DNE e

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T

HBAR/NET(E) = 10.48 M2

BEE /NG =2.736 M3

PNA21-01-#&&: 4F , $:1R5%: C5, fiE FHR: 5 [X4:+65,Y13:-74] R~F: 80 cm * 90 cm , 4 5: 380.0 cm

U

#8 Iﬁ'ﬁ(%']%ﬂ-igﬂ (380+0.00)*16/100 60.80
[_ H) & B+ 00K $8 B8l
(R E0])
NEfR- £ T im SNERE(HF)= (80+90)*2-8*4+2*13.89=335.8 53.72

L+ THEEIE= Int(((380-70)/2)/10.0)+1=16
+ TiE#ER= 335.816/100=53.72 M
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#4 SMER-H R SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 5 B8= Int(((380-70)/2)/15.0)+1=11
th R fE4E K= 335.8%11/100=36.94 M
#4 VAS il e S\ R E(F )= (80+90)*2-8*4+2%13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(RERB4+2*[135E & £4]13.9)
<7 EM *2=199.6 ]
Y(EE)ARE ()= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 B - LT #4_E T B $= Int(((380-70)/2)/10.0)+1=16 67.1
</ E TR R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRin #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th ik R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
fEESTE:

EBRE I (R1)XHX ($2)X-#X
ABHE:(H01)16-#8 ($A2)X-#X
BIERE(1)ME:8-T*6%
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
25:1i8:-(b2) 35*60/10000=0.21
25:2i8:-(B8) 45*60/10000=0.27
25:338:-(G3) 45*70/10000=0.32
%5:438:-(G3) 45*70/10000=0.32
L E/NEE.11 M2

FERRE BEAR MR 0 B
25:138:55.00*16/10000=0.0880
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
L E/NEF0.2480 M2

RS E AR R O B

E RIS 1(K)-:B8=15%(380-60)/10000=0.48
E R 2(BE)-:G3=15%(380-70)/10000=0.47

LLE/VET:0.95 M2

FEARAEET:12.92-[FE R AT HE]1 . 11-[#E AR 3 $]0.25-[4E #5 38 $£]0.95=10.62 M2

RCEH&E:
80*90*380/1000000= 2.736 M3

Mt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T
BAR/NET(E) = 10.62 M2
R /NET = 2.736 M3

PNA21-01-#8f8: 4F , #HL5%: C25, (B Fo%:

22 [X5:-85,Y22:+81] R~F:125cm * 70 cm , & 380.0 cm

#8 TH(E1E-LERE (380+0.00)*14/100 53.20
r HE)- 55+ 00RE 2 58
TE (1[I #E=0])
#4 SMERR-L T i SNERE(HR)= (125+70)*2-8*4+2*13.89=385.8 61.72
g L+ THEBIE= Int(((380-70)/2)/10.0)+1=16
I FHEfE K= 385.816/100=61.72 M
#4 SV - R HNERE(HR)= (125+70)*2-8*4+2*13.89=385.8 42.44
g th RG] 2= Int(((380-70)/2)/15.0)+1=11
th R fEHE K= 385.8*11/100=42.44 M
#4 SME - SWERE(HR)= (125+70)*2-8*4+2*13.89=385.8 27.00
g (Int(70/10))*385.8/100=27.00 M
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EHmEBEHRR-KFER,E XOKFE)ERE(GHAL)= (125-2*[{REB4+2*[135/E & i)
<7 B 13.9)*2=289.6 )
Y(EE)ARE(FRE)= (70-2*[REB14+2*[135E E£4]13.9)
*3=269.3
#4 BH- LTk #4 + Fi%EB= Int(((380-70)/2)/10.0)+1=16 89.4
</ L FigiaE= (289.6+269.3)*16/100=89.4 M
#4 BB f5-th R b #4rh IR BE= Int(((380-70)/2)/15.0)+1=11 61.5
<7 g £~ (289.6+269.3)*11/100=61.5 M
#4 B-REE #AR B E#E=(289.6+269.3)*Int(70/10)/100= 39.12 M 39.1
TR

AT GR)XHX (H2)X-#X
AREHER:(E1)14-#8 (FH2)X-#X
RS (8T 4%
BhRET &
EHER:(125+70)*2*380/10000=14.82 M2
PR E AR MO RR:
25:1i8:-(G40) 45*70/10000=0.32
%:2;8:-(B21) 45*70/10000=0.32
LL_E/NET:0.63 M2
FERRE AR MR A0 B
25:138:20.00*16/10000=0.0320
25:338:70.00*16/10000=0.1120
25:438:40.00*16/10000=0.0640
LL_E/VE:0.2080 M2
RS E AR M0 RR:
IS 1 (BRI )-:G40=15*(380-70)/10000=0.47
B2 (MR K )-:S0=20%(380-16)/10000=0.73
B 3(MRE )-:S0=20%(380-16)/10000=0.73
LLE/NET1.92 M2
*EH%%E‘H4.82-[*11%’&?§]0.63-[$IHE3'§?§]0.21-[*IH%B'E?%H .92=12.06 M2
RCE&E:
125*70*380/1000000= 3.325 M3

At EHER:
#4=321.193 M (321.193 M*0.994/1000= 0.3193 T)
#8=53.200 M (53.200 M*3.980/1000= 0.2117 T)
$MER/INET =0.5310 T
BAR/INET(E) = 12.06 M2
iR /NET = 3.325 M3

PNA21-01-#£8: 4F , #£08%: C32, fiB F5E: 34 [X6:-90,Y23:-132] R~f: 90 cm * 80 cm , 4£5: 380.0 cm

#8 ER(E14-—ARE): (380+0)*16/100 60.80
| 5 B (L) (4
[#&$£=0])
#4 S\ A5 - £ T i h\E R EE ()= (90+80)*2-8*4+2*13.89=335.8 57.08
g T HEBIE= Int(((380-60)/2)/10.0)+1=17
L+ THEE K= 335.817/100=57.08 M
#4 SMERR-P R SRR B ()= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-60)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 S\ ERR- R HMER B (H )= (90+80)*2-8*4+2*13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
BHBEHER-KTERE | XOKE)AEEGHRIE)= (90-2*[{R#E]14+2*[135E & £7]13.9)
<7 (1R *2=219.6 7
Y(EE)EREE(HBE)= (80-2*[{R#[B14+2*[135FE & £]13.9)
*2=199.6
#4 BA5-E T % #4 T iREE= Int(((380-60)/2)/10.0)+1=17 71.3
</ E TR R= (219.6+199.6)*17/100=71.3 M
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#4 BRH-h Rk #4 b Rin BB = Int(((380-60)/2)/15.0)+1=11 46.1
< / PRin#E K= (219.6+199.6)*11/100=46.1 M
#4 BH-REE HARRZ R R=(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1
faEsRa®E:

EEHEH(H1)16-#8 (FH2)X-#X
AREHER:(HE1)16-#8 (FH2)X-#X
LS E(1)1H:8-8"16%
EhRETE:
F1#KR:(90+80)*2*380/10000=12.92 M2
FERE R MR AIRR:
25:1i8:-(B28) 45*60/10000=0.27
25:2i8:-(G39) 50*60/10000=0.30
LLE/NEH0.57 M2
FERRE AR RO RR:
25:1i8:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
2L E/NEE:0.1120 M2
AR E AR RO RR:
i1 (FRE )-:B28=15%(380-60)/10000=0.48
0 (KREE )-:S1=15%(380-16)/10000=0.55
L E/NEH:1.03 M2
ﬁm%rﬁéﬁ:12.92-[*17@3?$§]0.57-[$HJ§3*¢?§]0.1 1-[AEHE 3T $£]1.03=11.21 M2
RCEtH&E:
90*80*380/1000000= 2.736 M3

At EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SER/INET =04971 T
BAR/NVER(E) = 11.21 M2
iR /NE =2.736 M3

PNA21-01-#£&: 4F , #£C8%: C16, SIEB F5E: 43 [X9:-17,Y11:-126] R~F: 90 cm * 80 cm , ¥ &: 225.0 cm

#8 TR LB (225+0.00)*16/100 36.00
r 1) 5+ 00 4 88
TE(fEHE[EE=0])
#4 SVEfR- L T iR SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 26.86
g L+ THEBIE= Int(((225-70)/2)/10.0)+1=8
+ FHEE K= 335.8*8/100=26.86 M
#4 SMERR-P R SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 20.15
g o SRR EE= Int(((225-70)/2)/15.0)+1=6
th R fimf@ K= 335.8*6/100=20.15 M
#4 S\ ERR- R SRR EE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHBEHR-KERE | XOKF)RREG )= (90-2 [{REE]4+2[135E #4$1]13.9)
</ Em *2=219.6 .
Y(EE)EREE(HTBE)= (80-2*[{R#[B14+2*[135EE & £]13.9)
*2=199.6
#4 BA5-E T % #4 T i BIE= Int(((225-70)/2)/10.0)+1=8 335
</ £ TFin#E K= (219.6+199.6)*8/100=33.5 M
#4 BE-pRih #4rh IR BIEL= Int(((225-70)/2)/15.0)+1=6 25.1
<2 bR iEHER = (219.6+199.6)*6/100=25.1 M
#4 BH-RERE HAR B[4 K =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERIE

TR GE)XHX ($12)X-#X
ABHIH:(HE1)16-#8 (FH2)X-#X
BHERE(1)MHE:8-T*163
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EhRETE:
FHEHR:(90+80)*2*225/10000=7.65 M2
BRI IR

%:158:-(G12) 50*70/10000=0.35
%:2;:8:-(B11) 45*60/10000=0.27
LLE/NEE:0.62 M2
FERRE IR IR IR
%:13i%:80.00%16/10000=0.1280
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:43%:90.00%16/10000=0.1440
LL_E/VEH:0.3840 M2
RSB AR IO R

EHEE 1 (B E)-:B11=15*(225-60)/10000=0.25
E RS 2(MRUE)-:S1=15%(200-16)/10000=0.28

LA E/NEE:0.52 M2

FEhRAEET:7.65-[AE R 3 $%]0.62-[#E hin 32 $#£]0. 38-[# 5 32 $£]0.52=6.12 M2

RC:tH&E:
90*80*225/1000000= 1.620 M3

et HAER:

#4=158.530 M (158.530 M*0.994/1000= 0.1576 T)
#8=36.000 M (36.000 M*3.980/1000= 0.1433 T)

$AR/NET = 0.3009 T
BAR/NVEH(E) = 6.12 M2
R /NET = 1.620 M3

PNA21-01-#&8: 4F , $:18E: C8, fIE FHR: 15 [X5:+145,Y13:-74] R~f: 80 cm * 90 cm , #5&: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ Fo) & 5+ 00 R R B3
TE (R E=0])
#4 S\MERR- £ T iR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SN - R 5\ (F5 %)= (80+90)*2-8%4+2*13.89=335.8 36.94
@ rh Je 4 2k= Int(((380-70)/2)/15.0)+1=11
th e fE e K= 335.8*11/100=36.94 M
#4 SN - R 5\ (5 2)= (80+90)*2-8%4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
<7 [EE *2=199.6 ]
Y(EE)ARE )= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 Bip-LTim #4_E T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
<2 F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R 8K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

BERHE:
BRI GRNXH#X (FB2)X-#X
ABHEIH:(HE1)16-#8 (FH2)X-#X
EERE(1)M:8-T16%

BIRETE:
F#EHR:(80+90)*2*380/10000=12.92 M2
FEARE AR MO RR:

%:158:-(G7) 45*70/10000=0.32
%:258:-(B7) 45*60/10000=0.27
%:358:-(B8) 45*60/10000=0.27
Ll E/VEt:0.86 M2
FERRE AR M A0 BR:
%:13%:40.00%16/10000=0.0640
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%:25%:30.00"16/10000=0.0480
%:4i%£:30.00*16/10000=0.0480
Ll E/VEH:0.1600 M2
SRR
E RS 1 (FRE)-:B8=15%(380-60)/10000=0.48
E RS2 (FRE)-:B7=12%(35-35)/10000=0.00
E 3R E)-:CS0=15*(380-20)/10000=0.54
LLE/NET:1.02 M2
$§Hlxi+{h§:§+:12.92-[&@&?%]0.86-[*1#&3?‘#%]0.16-[7&%1%3?*#%]1 .02=10.89 M2
RCEtE&E:
80*90%380/1000000= 2.736 M3

et EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAfR/INET =04971 T
BAR/NET(E) = 10.89 M2
RN = 2.736 M3

PNA21-01-#&/8: 4F , #:4t5%: C2, fIE F5%: 24 [X6:+125,Y10:-119] R~: 80 cm * 90 cm , $£5: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ FE): 5+ Q0RE 8 S8t
TE (B[ E=0])
#4 SMER- £ T SERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
B T E= Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 VAS i BaE S 5\ R BE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
B rh S 2k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE S\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEER-KTERE | XOKFE)AEEHGRE)= (80-2*[{RERB]4+2*[135E E4£7]13.9)
<7 ER *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixEI28= Int(((380-70)/2)/10.0)+1=16 67.1
< F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-REE #ABRF B K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERHE:

EEAEEEERNX#X ($2)X-#X
ABREH:(HE1)16-#8 (FH2)X-#X
BERE(1)MHE:8-T*16%
ERETE:
F1ER:(80+90)*2*380/10000=12.92 M2
FEARE RO
%:13%:-(G1) 45*70/10000=0.32
%:2i%:-(G2) 45*70/10000=0.32
%:3i%:-(B3) 45*60/10000=0.27
LL_E/NE:0.90 M2
FERRE R RO RR:
%:158:40.00*16/10000=0.0640
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LL_E/NEH0.1760 M2
FEREE AR RO RR:
TE 1 (R E)-:G1=15%(10-10)/10000=0.00
T 2(F BorE ZE):=15%(130-0)/10000=0.20
LL_E/NE:0.20 M2
AR ET:12.92-[#F R 3 $£]0.90-[4E hiR 32 $£10.18-[4E 5 3 $£10.20=11.65 M2
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RC:ETE:
80*90*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$ARE/INET =04971 T
HBAR/NVET(E) = 11.65 M2
SRR /NET = 2.736 M3

PNA21-01-#£&: 4F , #£4K5%: C1, SLEFF5k: 23 [X6:+125,Y8:+51] R~F: 80 cm * 90 cm , #75: 380.0 cm

#8 EH(E1A-LEE (380+0.00)*16/100 60.80
[_ HE)- 2 5+ 00RE $ §084
TE(fEHE[BE=0])
#4 SN EH- T SNEEE(HT)= (80+90)*2-8*4+2%13.89=335.8 53.72
g L+ FHEZ= Int(((380-70)/2)/10.0)+1=16
T E= 335.816/100=53.72 M
#4 SRR3R S\ERFE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh SR B #h= Int(((380-70)/2)/15.0)+1=11
R E= 335.8*11/100=36.94 M
#4 H\ER-BRE S\ERFE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 B *2=199.6 .
Y(EE)RRE ()= (90-2*[{REE]14+2*[135E & §7]13.9)
*2=219.6
#4 BA5- T i #4 - T iR #= Int(((380-70)/2)/10.0)+1=16 67.1
</ i E= (199.6+219.6)*16/100=67.1 M
#4 B -rh S i H#ATh L REESE= Int(((380-70)/2)/15.0)+1=11 46.1
<7 i K= (199.6+219.6)*11/100=46.1 M
#4 Bi-BREE HARF E R E=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EEBHL

AT GR)XHX ($2)X-#X
AR (FE1)16-#8 ($H2)X-#X
RS (1)MH:8-TH 16X
EhRETE:
T4 HR:(80+90)*2*380/10000=12.92 M2
BRI OB
%:1;8:-(CG1) 45*70/10000=0.32
%:2;8:-(G1) 45*70/10000=0.32
25:3i8:-(B1) 45*60/10000=0.27
Ll _E/VET:0.90 M2
FE MBS AR R O B
25:138:45.00*16/10000=0.0720
25:3i8:40.00*16/10000=0.0640
25:438:30.00*16/10000=0.0480
LL_E/VE:0.1840 M2
RSB AR R O B
IR (3 B orEZ):=15%(10-0)/10000=0.02
2 (H BorEZ2):=15%(120-0)/10000=0.18
Ll _E/VEF:0.20 M2
*Em%r.fﬁg?m2.92-[*1*2’&3??&]o.go-ﬁzﬂﬁﬁﬁ]o.1 8-[4E#5 3T $£]0.20=11.64 M2
RCEH&E:
80*90*380/1000000= 2.736 M3

At EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
MER/INET =04971 T
BRR/NVEH(E) = 11.64 M2
R /NET = 2.736 M3
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PNA21-01-#8[&: 4F , #1885 C1, LEFiR

: 1 [X3:-235,Y8:+51] R~:80 cm * 90 cm , #&: 380.0 cm

#8 TH(E A LEE (380+0.00)*16/100 60.80
[_ Foy 2 5+ 00 B B3
TE (1B &I E=0])
#4 S RS- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g | TFHEES= Int(((380-70)/2)/10.0)+1=16
tTiE#RE= 335.8416/100=53.72 M
#4 SMERR-Th R SR EE(H )= (80+90)*2-8*4+2+13.89=335.8 36.94
g rh 5 28= Int(((380-70)/2)/15.0)+1=11
S48 K= 335.8*11/100=36.94 M
#4 SMERR-RE SR E(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EHMEBERR-KFR,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(EE)AREE L= (90-2 [{R#B]4+2*[135E & $1]13.9)
*2=219.6
#4 Bi5- T #4 £ T iR S= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETFigiER= (199.6+219.6)*16/100=67.1 M
#4 B 5-rh R #4 th RIHE BI= Int(((380-70)/2)/15.0)+1=11 46.1
<7 L% R = (199.6+219.6)*11/100=46.1 M
#4 BH-BREE #ABRZ [E 1 R=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERITE:

R EH (R)XHX (182)X#X

AR (FE1)16-#8 ($H2)X-#X

B8 E(1)#H:8-T16X

EhRETE:

F 12 hR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
%:158:-(CG1) 45*70/10000=0.32
5:2i%:-(B2) 45*60/10000=0.27
%:3i%:-(G1) 45*70/10000=0.32
LAk /NEF:0.90 M2

FERRE AR R A0 B
:1i8:45.00*16/10000=0.0720
£:2%:30.00*16/10000=0.0480
%:372:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LA E/NET:0.3120 M2

NS E AR R A0 B

EE1(FSorE %E):=15%(120-0)/10000=0.18
E i 2(MUE)-:CS=15*(380-16)/10000=0.55
E S 3(ME)-:CS=15*(380-16)/10000=0.55
E R 4(BRE)-:B2=15%(380-60)/10000=0.48

LLE/NVET:1.75 M2

AR FEET:12.92-[#E 4R 3 $]0.90-[#F hR 32 $£]0.31-[#E #8 32 $%]1.75=9.96 M2

RCEHE:
80*90*380/1000000= 2.736 M3

SRSt H AR
#4=256.668 M (256.668 M*0.994/1000= 0.

2551 T)

#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

MER/INET =04971 T
BRR/NVET(E) = 9.96 M2
R /NGt = 2.736 M3

PNA21-01-#£f2: 4F , #£88%: C2, SIEFF5%: 2 [X3:-235,Y10:-119] R~F: 80 cm * 90 cm , 4 5: 380.0 cm
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#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ HE)+ 1 5+ 00RE H 684
TE(HBHE[EE=0))
#4 SMER-L T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh e 28= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SN RR-R 5\ iE R BE(H2)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEE(HRE)= (80-2*[{RERB]4+2*[135EF E$7]13.9)
</ EM[ *2=199.6 ]
Y(EE)ERE(FBE)= (90-2* [{R#[B14+2*[135EE £ £7]13.9)
*2=219.6
#4 Bip-LTim #4 E T ixE 2= Int(((380-70)/2)/10.0)+1=16 67.1
</ E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
</ R iR = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRFEHFE=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

RSt R:

EBEEEEFR1)XH#X (JH2)X-#X
ABA LS (481)16-#8 ($B2)X-#X
ERBE(1 BT 16X

BhRETE:

F 1% hr:(80+90)*2*380/10000=12.92 M2

HEEEAR MO

%:158:-(G1) 45*70/10000=0.32
%:2i%:-(B4) 45*60/10000=0.27
%:3i%:-(G2) 45*70/10000=0.32
LA E/]NE:0.90 M2

MR AR MR O PR

%:158:40.00*16/10000=0.0640
%5:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%5:45%:80.00*16/10000=0.1280
LL_E/VET:0.3040 M2

RS E AR RO PR

E R 1 (B K)-:B4=15%(380-60)/10000=0.48

IR 2(hRE
RS 3(hRE

:CS=15%(380-16)/10000=0.55
:CS=15%(380-16)/10000=0.55

IR A(BRE )--G1=15%(380-70)/10000=0.47
LLE/INEH:2.04 M2
R AEET:12.92-[4F 2 3 $£]0.90-[4E ik 3 #£10.30-[4E 15 32 $%]2.04=9.68 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3

M EER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SARE/INET =04971 T
BAR/NVET(E) = 9.68 M2
SR NET = 2.736 M3

PNA21-01-1£f&: 4F , #£K5%: C7, fiE 5k 13 [X5:+145,Y10:-119] R~t: 80 cm * 90 cm, #£5: 380.0 cm

#8

-

EH(E1E-LERE
) EH+90E E i 5h
TE (M [HEH=0])

(380+0.00)*16/100

60.80
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SMERS- £ T SMEEE(F )= (80+90)*2-8*4+2+*13.89=335.8 53.72
L+ T #EE= Int((380-70)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

#4

SRS R sM4E 5 B (F7)= (80+90)*2-8*4+2+13.89=335.8 36.94
th R B #= Int(((380-70)/2)/15.0)+1=11
s 48 & = 335.8°11/100=36.94 M

#4

(Int(70/10))*335.8/100=23.50 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
BE *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

BT #4 T 5B %= Int(((380-70)/2)/10.0)+1=16 67.1
LTk E= (199.6+219.6)16/100=67.1 M

#4

8-l #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
th R ifkiE R = (199.6+219.6)*11/100=46.1 M

#4

BH-BERE #ABRFEHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

#4 g o\ A -BR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
#4

fBEETE:

EBHE(R1)XHX ($2)X-#X
ABHE:(H01)16-#8 (FA2)X-#X
BIERE(1)ME:8-T*6%
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
%5:138:-(G5) 45*70/10000=0.32
25:2i8:-(B3) 45*60/10000=0.27
%5:3i8:-(G6) 45*70/10000=0.32
%5:438:-(B4) 45*60/10000=0.27
KL E/NEHA1.17 M2

FE MBS R OB
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
L E/NEF0.2240 M2

RS E AR R O B
B 1(FRE)-:B4=15%(380-60)/10000=0.48
B 2(FRIE )-:B3=15%(380-60)/10000=0.48

Ll E/NEF0.96 M2
ﬁﬁl%rﬁgﬁnz.gz-[ﬁ@ﬁ;gn A7-[FERR3THE]0.22-[4E 15 35 $£]0.96=10.57 M2
RCETE:

80*90*380/1000000= 2.736 M3
-------------- ELR- K 1 1Y S——
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/NET(E) = 10.57 M2
R /NGt = 2.736 M3

PNA21-01-#£8: 4F , #E88%: C2, SIEFF5%: 3 [X3:-235,Y11:+211] R~t: 80 cm * 90 cm , 4% 380.0 cm

#8 TH(FE1HE-EEE (380+0.00)*16/100 60.80
r HE)- £+ 00FE 2 38
TE (1[I #E=0])
#4 SVMERR- £ T SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THEBIE= Int(((380-70)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
@ o SRR E8= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
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#4 SN - S\ R ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E (G H4E)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (0-2* IR HEB4+2*[1355 E£4]13.9)
*2=219.6
#4 B Tk #4 1 T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BEH-BEE HARE B E=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA T (M1)X-#X ($82)X-#X

KRBT H:(101)16-#8 (482)X-#X

EIESEE(1)H:8-T 16X

BARETE

I 1#1R:(80+90)*2+380/10000=12.92 M2

PR E AR MO RR:
%:1i2:-(G2) 45*70/10000=0.32
%:23%:-(B6) 4560/10000=0.27
%:3i%:-(G3) 45*70/10000=0.32
Ll _E/NE:0.90 M2

FERRE AR M0 B
%5:1%:40.00*16/10000=0.0640
5:23%:30.00*16/10000=0.0480
%5:3i%:40.00*16/10000=0.0640
5:43%:80.00*16/10000=0.1280
Ll _E/NEF:0.3040 M2

NS E AR M A0 R
B (R
B 2(RE

EEE AR E

:B6=15%(380-60)/10000=0.48
2=15*(380-70)/10000=0.47

S$=15*(380-16)/10000=0.55

)-
)-:G

EIERE 3(BE)--G3=15%(380-70)/10000=0.47
)-:C
)-

E S 5(ME)-:CS=15*(380-16)/10000=0.55

LLE/NVET:2.50 M2

AR RS :12.92-[#F#R 3 $£]0.90-[#E iR 32 $%]0.30-[4E 15 3 $£]2.50=9.21 M2

RCEH&E:
80*90*380/1000000= 2.736 M3

MArEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SER/INET =04971 T
BAR/EH(E) = 9.21 M2
R /NGt = 2.736 M3

PNA21-01-#£8: 4F , #5885 C7, SIEFFSE: 14 [X5:+145,Y11:+211] R~: 80 cm * 90 cm , & 380.0 cm

#8 TH(FE1HE-LEE (380+0.00)*16/100 60.80
r HE)- % 55+ 00RE 2 38
TE (1[I HE=0])
#4 SMERR-L T i HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEBIE= Int(((380-70)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g th RG] 28= Int(((380-70)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 SME - SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
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EmEBERR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (90-2* IR B4+2*[1355 E£4]13.9)
*2=219.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh i #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BE-BEE HARE B E=(199.6+219.6)Int(70/10)/100= 29.34 M 29.3
FEEHE

EBRE T (R1)XHX ($2)X-#X
ABAEE:(101)16-#8 ($B2)X-#X
BIERE(1)ME:8-T*6%

BhREHE:

F 1% hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:15%:-(G6) 45*70/10000=0.32
%:25%:-(B5) 45*60/10000=0.27
%:3i&:-(G7) 45*70/10000=0.32
%:45%:-(B6) 45*60/10000=0.27
LLE/NET:1.17 M2

HEMRE AR MR 0 PR

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.2240 M2

RSB R AR M O PR

41 (FRJE )-:B6=15%(380-60)/10000=0.48
E 2 (MRE )-:S2=12%(35-16)/10000=0.02
I 3(FRE )-:B5=15%(380-60)/10000=0.48
Ll _E/VET:0.98 M2
WRRAEET: 12, 92-[FE R HR]1.17-[#F hR 32 $10.22- [ 15 38 $%]0.98=10.54 M2

RCEHE:

80*90*380/1000000= 2.736 M3

MArEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SAER/INET =04971 T

BAR/NET(E) = 10.54 M2

B /G =2.736 M3

PNA21-01-#£8: 4F , #588%: C22, fiB F5E: 7 [X4:+45,Y15:+96] R~F: 80 cm * 90 cm , #&: 380.0 cm

#8 TH(E1HE-LEE (380+0.00)*16/100 60.80
r H): 55+ 00 FE 8 $38
TE(MBIE[EE=0)
#4 SV fR- - T iR S\E R B (H4)= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THEEIE= Int(((380-70)/2)/10.0)+1=16
T K= 335.8*16/100=53.72 M
#4 VAS il RaE S 5V iE R EE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh SR 5B B8= Int(((380-70)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 SMER-BRE SV EREE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHRRE-KFERE | XOKF)AEEFRIE)= (80-2 [{RERE]4+2*[135E & £4]13.9)
7 | BER *2=199.6 )
Y(EE)ERE(HH4E)= (90-2*[{FEB14+2*[135F € 45]13.9)
*2=219.6

Page 13/48



#4 B5- £ Tin #4 £ T i#E$= Int(((380-70)/2)/10.0)+1=16 67.1
<7 L TixiER= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh RiH B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QR ifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R EHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
fEEsTE:

BT (FR1)XHX (#2)X-#X

KRBT (H1)16-#8 (FH2)X-#X

B (1)1:8-T* 163X

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO
%:158:-(G21) 45*70/10000=0.32
%:25%:-(B18) 45*60/10000=0.27
%:35%:-(BRF30) 30*45/10000=0.14
LLE/NVET:0.72 M2

HEMRE AR MR 0 PR:
%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:60.00*16/10000=0.0960
%:45%:80.00*16/10000=0.1280
LL_E/VET:0.3360 M2

RSB AR MO PR
E S 1(MRE)-:S1=15%(380-16)/10000=0.55
E iR 2(RK)-:B18=15*(380-60)/10000=0.48
E RIS 3(ME)-:CS=15*(380-16)/10000=0.55
E S 4(ME)-:CS=15*(380-16)/10000=0.55

Ll E/NER2.12 M2
ﬁm%rﬂgﬁn2.92-[*11&*&#&]0.72-[$IH&§?&]0.34-[&;1%&?%]2.12=9.75 M2
RCETE:

80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/NET(E) = 9.75 M2
iR /NE =2.736 M3

PNA21-01-#£8: 4F , #£08%: C26, fiBF5E: 17 [X5:-75,Y15:496] R~F: 80 cm * 90 cm , 4 &: 380.0 cm

#8 ETH(E1HE-EEE (380+0.00)*16/100 60.80
r H): 3 5+ 00 R 884
TE(MBIE[EE=0)
#4 S\EfR- - T i s\iE R B ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((380-70)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 SMERR-h R SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 HNERR-RE SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEBERRE-KFER,E | XOKF)AEEFRIE)= (80-2 [{RERE]4+2*135E E]13.9)
<2 (1G] *2=199.6 )
Y(EE)EREE(HTBE)= (90-2*[{R#[B14+2*[135 £ £]13.9)
*2=219.6
#4 BA5-ETiE #4 T iRB 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETiR#ER= (199.6+219.6)*16/100=67.1 M
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#4 B H-th R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 Bi5-BREE HARF EH5=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
tBERaTE:

EBHEHHR)XAX (H2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
RS (1)MH:8-TH 16X
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
%5:1i8:-(G25) 45*70/10000=0.32
%:2:%:-(B17) 45*60/10000=0.27
25:3i8:-(BRF30) 30*45/10000=0.14
%5:4i8:-(B18) 45*60/10000=0.27
Ll _E/NE:0.99 M2
FERRE BEAR MR 0 B
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:60.00*16/10000=0.0960
25:43%:30.00*16/10000=0.0480
Ll _E/VE:0.2560 M2
NS E AR M0 R
I 1(FRE)-:B17=15%(380-60)/10000=0.48
S 2(FRIE )-:B18=15%(380-60)/10000=0.48
Ll _E/NET:0.96 M2
ﬁm%rﬁg?m2.92-[*11%’&?&]0.99-[$IH&§?&]0.26-[&#%&?&]0.9&10.71 M2
RCEE:
80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAER/INET =04971 T
BAR/NVET(E) = 10.71 M2
iR /INE =2.736 M3

PNA21-01-#£8: 4F , #£08%: C29, LiE F5E: 28 [X6:-95,Y15:496] R~F: 80 cm * 90 cm , 4 &: 380.0 cm

#8 TH(FE1HE-EEE (380+0.00)*16/100 60.80
r FE) 2 5+ 00 R B3
TE(MBIE[EE=0))
#4 sMER- £ T i SV R EE(HT5)= (80+90)*2-8*4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
+ TiE#ER= 335.8*16/100=53.72 M
#4 ST R SV R EE(H5)= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 5 B 2= Int(((380-70)/2)/15.0)+1=11
rhRfiEiE K= 335.8*11/100=36.94 M
#4 G- BRE SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHR-KERE | XOKP)MEEF )= (80-2*[{RERE]4+2[135E E4$7]13.9)
<7 B[ *2=199.6 ]
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135EE £ £]13.9)
*2=219.6
#4 B5- LT #4_F T iHE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 BB W-h R R #A4TH R 55 8= Int(((380-70)/2)/15.0)+1=11 46.1
<2 rhRiG#E R = (199.6+219.6)*11/100=46.1 M
#4 BH-BRERE #ARZEHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
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BRI R
LR EH:(B1)X-#X (FB2)X-#X
AEBHTH:(H1)16-#8 (FH2)X-#X
fEERRE(1)4:8-T163%
HARETE:
FHEHR:(80+90)*2*380/10000=12.92 M2
R EEEMR R
%:158:-(G28) 45*70/10000=0.32
%:2;:8:-(B17) 45*60/10000=0.27
KL E/VET:0.59 M2

RS R
%:158:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
Ll E/NE0.1120 M2

SRR

EHEEE:1(FE SorE ZE):=15%(260-0)/10000=0.39

LA E/NEE:0.39 M2

FERR AR ET:12.92-[#E 4R 32 1%]0.59-[#E kiR 32 $£]0.11-[#E 145 32 $£]0.39=11.83 M2

RC:tH&E:
80*90*380/1000000= 2.736 M3

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T
BAR/MEH(E) = 11.83 M2
RN = 2.736 M3

PNA21-01-#88: 4F , #4K5%: C35, EFR:

42 [X9:+155,Y23:-169] R~: 90 cm * 80 cm , #£5: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ HE)+ 2 5+ 00K 8 884
TE(FEHE[BE=0])
#4 SMER-L T S\ B (H4)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THE = Int(((380-70)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 HME - R SR E ()= (90+80)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-70)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M
#4 SMER-RE SR E(FHF2)= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEER-KTERE | XOKFE)AEEFGRE)= (90-2*[{RERB14+2*[135E E$7]13.9)
< (=G *2=219.6 ]
Y(EE)ERE(FBAE)= (80-2* [{R#[B14+2*[135FE £ £4]13.9)
*2=199.6
#4 Bip-LTim #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
</ L TFigiE K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
< PR R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ABRF B R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3

BERHE:
BRI GRNXH#X (FB2)X-#X
ARBHIH:(HE1)16-#8 (FH2)X-#X
EERE(1)M:8-T16%

BIRETE:
F#EHR:(90+80)*2*380/10000=12.92 M2
FEARE AR MO RR:

%:158:-(B25) 45*60/10000=0.27
%:258:-(G37) 45*70/10000=0.32
%:358:-(G38) 45*70/10000=0.32
LLE/VEH:0.90 M2
FERRE AR M A0 BR:
%:13%:30.00%16/10000=0.0480
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% :2:%:40.00"16/10000=0.0640

%:3i%:80.00%16/10000=0.1280

%:4i%:40.00%16/10000=0.0640

LL_E/VEH:0.3040 M2
NS B AR IO

RS (R

EREE 2 (R

-:G38=15%(380-70)/10000=0.47
-:B25=15%(380-60)/10000=0.48

E R 3(MRE)-:S1=15%(380-16)/10000=0.55

E RS 4(MRE)-:S1=15%(380-16)/10000=0.55

LLE/NET:2.04 M2
$§Hlxi+{h§:§+:12.92-[&15%&?%]0.90-[7&#&x*?&]0.30-[*1#%&?%]2.04:9.68 M2
RCEH&E:

90*80*380/1000000= 2.736 M3

st EHR:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$ARR/INET =04971 T
EAR/MVEH(E) = 9.68 M2
RN = 2.736 M3

PNA21-01-#£&: 4F , #EK5%: C32, fIE F5%: 48 [X10:-175,Y23:-169] R~t: 90 cm * 80 cm, #&: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ FE): 5+ Q0RE 8 S8t
TE(HBHE[EE=0])
#4 SMER- L T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 HME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh S 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ RE(FHF2)= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEEFGRE)= (90-2*[{RERB14+2*[135E E$7]13.9)
<7 [EE *2=219.6 ]
Y(EE)AREHRE)= (80-2[REE4+2*[135EE$5]13.9)
*2=199.6
#4 Bip-LTim #4 £ T imE28= Int(((380-70)/2)/10.0)+1=16 67.1
< F i R= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JRifiE R = (219.6+199.6)*11/100=46.1 M
#4 B-RERE #ABRF B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EESETE:

R GRNXH#X (FE2)X-#X

ABHEEIH:(HE1)16-#8 (FH2)X-#X

EERE(1)M:8-T16%

BhRETE:

F 1 HR:(90+80)*2*380/10000=12.92 M2

FEARE AR MO RR:
%:158:-(B27) 45*60/10000=0.27
%:258:-(G37) 45*70/10000=0.32
Ll E/VEE:0.59 M2

FERRE AR MR A0 BR:
%:13%:30.00%16/10000=0.0480
%:3i%:80.00%16/10000=0.1280
%:4i%:40.00%16/10000=0.0640
LL_E/VEH:0.2400 M2

AR E AR M0 B
E IS 1(FREE)-:B27=15*(380-60)/10000=0.48
E IS 2(FRE)-:G37=15%(380-70)/10000=0.47
E IS 3(MRUE)-:S1=15%(380-16)/10000=0.55
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E R 4(MRE)-:S1=15%(380-16)/10000=0.55
LLE/NET:2.04 M2
$§Hls‘z+{ﬁ§:§+:12.92—[&*%‘1&#%]0.59-[7&#&§#§]0.24-[H%|%§?§]2.04:10.06 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SARR/INET = 04971 T
BAR/NVEH(E) = 10.06 M2
R /NET = 2.736 M3

PNA21-01-#£&: 4F , #£4X5%: C35, fIE F5%: 40 [X9:+155,Y20:+191] R~: 90 cm * 80 cm , #&: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ HE):3 5+ 00 R i S5
TE(HBHE[EE=0])
#4 SV - £ T i 55 (F52)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ RE(HH2)= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHBEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135E & £]13.9)
</ E[A *2=219.6 ]
Y(EE)AREHRHE)= (80-2[REB4+2 135 E$]13.9)
*2=199.6
#4 Bip-LTim #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
</ L+ Fif#ER= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QiR = (219.6+199.6)*11/100=46.1 M
#4 B-RERE #ARF B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EESTE

EREREEH:(HR1)X-HX (HB2)X-#X
ABRERH:(HE1)16-#8 (FH2)X-#X
BERE(1)MHE:8-T*16%

ARt E:

F 18 kR:(90+80)*2*380/10000=12.92 M2

AR E R
%:158:-(G31) 45*70/10000=0.32
%5:258:-(B24) 45*60/10000=0.27
%:358:-(G32) 45*70/10000=0.32
Ll E/NEH0.90 M2

B B AR R
%:2i%:40.00*16/10000=0.0640
%:3i%:30.00*16/10000=0.0480
%:4:8:40.00*16/10000=0.0640
Ll E/NEH0.1760 M2

AR E RO
1 (E B orBZ):=15%(130-0)/10000=0.20
2 (B orE Z):=15%(10-0)/10000=0.02
Ll E/NEH0.21 M2

*EH%%E‘I‘A 2.92-[#E 35 $£]0.90-[#E il 32 $£]0.18-[#E 15 35 $£]0.21=11.63 M2

RC:EtHE:
90*80*380/1000000= 2.736 M3

M EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
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SRR/NET = 04971 T
BAR/NVET(E) = 11.63 M2
SRR /NET = 2.736 M3

PNA21-01-4&8: 4F , 41X 85 C34, {BFEE: 41 [X9:+155,Y21:+211] R~t: 90 cm * 80 cm , #&: 380.0 cm

#8 TH(E1E- L EE (380+0.00)*16/100 60.80
[_ HE)- 2 5+ 00RE 8 884
TE (MR E=0))
#4 SMEf- £ T i SMEEREE (5 T2)= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEEI = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMER-h R SR EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 36.94
[; rh 5 B8= Int(((380-70)/2)/15.0)+1=11
rh R E e K= 335.8*11/100=36.94 M
#4 SMER-BRE SR EE(F72)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFER,E | XOKE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 EM *2=219.6 )
Y(EE)FRE ()= (80-2*[{R#[B14+2*[135FE & £4]13.9)
*2=199.6
#4 855 T iF #4_F T B 8= Int(((380-70)/2)/10.0)+1=16 67.1
< F TR R= (219.6+199.6)*16/100=67.1 M
#4 BE-h Rl #A4Th R 8= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QiR = (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HARZ [ERER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EESTE

AT GR)XHX (H2)X-#X
AR (FE1)16-#8 ($H2)X-#X
B RE(1)MH:8-TH 16X
EhRETE:
F48HR:(90+80)*2*380/10000=12.92 M2
RSB AE IR OB
%:158:-(B24) 45*60/10000=0.27
25:2i8:-(G34) 45*70/10000=0.32
25:3i8:-(B25) 45*60/10000=0.27
25:438:-(G35) 45*70/10000=0.32
LLE/NER1.17 M2
FE MBS AR R 3O PR
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LL_E/VE:0.2240 M2
NS E AR R O PR
B 1(FRE)-:B25=15%(380-60)/10000=0.48
TR 2 (FRK )-:B24=15*(380-60)/10000=0.48
Ll _E/NET:0.96 M2
$§H@rﬁ§§+:12.92-{m§!§¥§]1 AT-[FERR 3 $%]0.22-[#E 5 3 $£]0.96=10.57 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SER/INET =04971 T
BAR/NET(E) = 10.57 M2
R /NET = 2.736 M3

PNA21-01-#£f8: 4F , #K5%: C12, LB F5%: 25 [X6:+108,Y11:+218] R~t: 128 cm * 80 cm, #7&: 380.0 cm
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#8 TH(EE- L EE (380+0.00)*22/100 83.60
[_ H): 3 5+ 00 R 4 S5
TE(HBHE[EE=0))
#4 S\ A5 - £ T i SRR B ()= (128+80)*2-8*4+2%13.89=411.8 65.88
g T E= Int(((380-70)/2)/10.0)+1=16
FTH#R=411.8*16/100=65.88 M
#4 SME - R SR E(H )= (128+80)*2-8*4+2%13.89=411.8 45.30
g h e 28= Int(((380-70)/2)/15.0)+1=11
PR iR R = 411.8%11/100=45.30 M
#4 SMER-RE SR E(H )= (128+80)*2-8*4+2%13.89=411.8 28.82
g (Int(70/10))*411.8/100=28.82 M
BHBEGR-KFERE | XOKF)AREFREE)= (128-2* [{REB14+2*[135E & )]
</ [EE 13.9)*2=295.6 ]
Y(EE)ERE(FHE)= (80-2*[{R#[B14+2*[135EE £ £4]13.9)
*2=199.6
#4 Bip-LTim #4 E T ixE 2= Int(((380-70)/2)/10.0)+1=16 79.2
</ E i R= (295.6+199.6)*16/100=79.2 M
#4 BE-hRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 54.5
</ R iR = (295.6+199.6)*11/100=54.5 M
#4 BH-BEE HARRZ [EHE R =(295.6+199.6)*Int(70/10)/100= 34.66 M 347

BEsarE:
EBEEEEFR1)XH#X (JH2)X-#X
RERTE:(H1)22-#8 (F2)X-#X
B E(1)4:8-T22%
EhREHE:
FHR:(128+80)*2*380/10000=15.81 M2
HRREEERR R
%:1i8:-(G2) 45*70/10000=0.32
%:2i8:-(G9) 45*70/10000=0.32
%:3i%:-(B5) 45*60/10000=0.27
2L E/VEE:0.90 M2

FERRE AR AR 0B
%:152:30.00*16/10000=0.0480
%:352:30.00*16/10000=0.0480
%:45%:77.50*16/10000=0.1240
LL_E/]NE1:0.2200 M2

B E AR AR OB

EIEHE1(FSorFE2e):=15%(130-0)/10000=0.20
EIEE2(F SoriE2e):=15%(10-0)/10000=0.02

Ll E/NEE:0.21 M2

¥ hRAEET:15.81-[FEER 3 $£]0.90-[#F ik 32 $£10.22- [ 15 38 4%]0.21=14.48 M2

RCEHE:
128*80*380/1000000= 3.891 M3

P EER:

#4=308.348 M (308.348 M*0.994/1000= 0.3065 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)

$MRR/INET =0.6392 T
HBAR/NET(E) = 14.48 M2
SRR /NET = 3.891 M3

PNA21-01-1£&: 4F , #£4K5%: C31, fIE 5% 32 [X6:-95,Y20:+186] R~t: 80 cm * 90 cm , #75: 380.0 cm

#4 @ SV - £ T i

#8 ERH(BEE-—RE): (380+0)*16/100 60.80
| T+ R (Lo (B IS
0]
%?ﬁﬁg(ﬁﬁ?F (80+90)*2-8*4+2%13.89=335.8 53.72

+ THEREZ= Int(((380-70)/2)/10.0)+1=16
I FHEf K= 335.816/100=53.72 M
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#4 SMER-H R SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 5 B8= Int(((380-70)/2)/15.0)+1=11
th R fE4E K= 335.8%11/100=36.94 M
#4 VAS il e S\ R E(F )= (80+90)*2-8*4+2%13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(RERB4+2*[135E & £4]13.9)
<7 EM *2=199.6 ]
Y(EE)ARE ()= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 B - LT #4_E T B $= Int(((380-70)/2)/10.0)+1=16 67.1
</ E TR R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRin #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th ik R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
fEESTE:

EBHER(11)16-48 (#B2)X-#X

ABHE:(181)16-#8 ($A2)X-#X

BIEIRE(1)#0:8-8*16%

BhRET &

F48HR:(80+90)*2*380/10000=12.92 M2

PR E AR MO RR:
25:138:-(G30) 45*70/10000=0.32
25:2i8:-(G33) 50*60/10000=0.30
%5:3i8:-(B28) 45*60/10000=0.27
%5:438:-(B17) 45*60/10000=0.27
L E/NEH1.16 M2

FERRE BEAR MR 0 B
25:138:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
L E/NEF0.2240 M2

AR E AR R O B
1 (B orEZ):=15%(10-0)/10000=0.02
S 2 (KR )-:B28=15%(380-60)/10000=0.48
S 3(FRIE )-:G33=15*(380-60)/10000=0.48

Ll E/NEF0.98 M2
ﬁﬁl%rﬁgﬁnz.gz-[ﬁ@ﬁ;gn A6-[FERR 3T HE]0.22-[4E 15 35 $£]0.98=10.57 M2
RCETE:

80*90*380/1000000= 2.736 M3
-------------- ELR- K 1 1Y J—
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/NET(E) = 10.57 M2
R /NET = 2.736 M3

PNA21-01-#£&: 4F , #5885 C33, fiB F &k 35 [X7:-15,Y20:+191] R~F: 90 cm * 80 cm , #&: 380.0 cm

#8 F(E1HE-—REE): (380+0)*16/100 60.80
| T+ (L) (18
[#&#£=0])
#4 SMEfR- £ T SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
@ + THERE2= Int(((380-70)/2)/10.0)+1=16
+ T K= 335.816/100=53.72 M

ARG 24= Int(((380-70)/2)/15.0)+1=11

#4 @ HME - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
th R fEHE K= 335.8*11/100=36.94 M
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#4 SRR SR ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(H )= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 B Tk #4 1 T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 LT E= (219.6+199.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (219.6+199.6)*11/100=46.1 M
#4 BEH-BEE HARF EHE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA TS (481)16-#8 ($B2)X-#X
ABAEE:(181)16-#8 (M2)X-#X
B335 (1)58:8-8*16%%

BhREHH:

F % hr:(90+80)*2*380/10000=12.92 M2

HEEERAR MO

%:158:-(G32) 45*70/10000=0.32
55:2i8:-(B22) 45*60/10000=0.27
%:35%:-(G33) 50*60/10000=0.30
LLE/VET:0.89 M2

HEMRE R AR b 0 PR

%5:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.1760 M2

RSB R AR M O PR

B 1(FRE)-:G32=15%(10-10)/10000=0.00

B 2(FR K )-:G33=15%(380-60)/10000=0.48

LL_E/NET:0.48 M2
WERRABET:12.92-[FE R $£]0.89-[#F hR 32 $%10.18-[4 15 38 $%]0.48=11.38 M2

RCEH&E:

90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NEH(E) = 11.38 M2

B/ =2.736 M3

PNA21-01-#8f8: 4F , 4 HL5%: C35, (B F5k:

37 [X7:-15,Y23:-169] R~F: 90 cm * 80 cm , 4 5: 380.0 cm

#8 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| EH+EE(Lg)(1EE
[#E#=0))
#4 sMERR- £ T i 5\ R BE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ TR S= Int(((380-70)/2)/10.0)+1=16
+F#E#E K= 335.8%16/100=53.72 M
#4 VAS il RaE S 5\ 5 R EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh SR 5B 8= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 MR- 55 R BE ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHR-KFERE | XOKF)RREGGRHE)= (90-2*[REE]4+2*[135E &$7]13.9)
<7 B[ *2=219.6 i
Y(EE)ERE (4= (80-2*[{FHEB14+2*[135F € 40]13.9)
*2=199.6
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#4 B5- £ Tin #4 £ T i#E$= Int(((380-70)/2)/10.0)+1=16 67.1
</ £ TixiER= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh RiH B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE HAR B EHER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
fEEsTE:

EBAEEE(HR1)16-#8 ($B2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
MBI RE(1)1H:8-816%
BhRET &
F48HR:(90+80)*2*380/10000=12.92 M2
PR E AR MO RR:
%5:1i8:-(B23) 45*60/10000=0.27
25:2i8:-(G38) 45*70/10000=0.32
25:338:-(G39) 50*60/10000=0.30
Ll _E/NET:0.89 M2
FERRE BEAR M A0 B
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:3i8:80.00*16/10000=0.1280
25:438:40.00*16/10000=0.0640
LL_E/VE:0.3040 M2
RS E AR M0 RR:
S 1(FRE)-:B23=15%(380-60)/10000=0.48
B2 (MK )-:S1=15*(380-16)/10000=0.55
T 3(MRE )-:S1=15%(380-16)/10000=0.55
LLE/NET1.57 M2
ﬁm%rfg?m2.92-[*11%’&?&]0.89-[*1#&&?%]0.30-[&;1%3??%]1 .57=10.16 M2
RCEHE:
90*80*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/INET(E) = 10.16 M2
iR /INE =2.736 M3

PNA21-01-#&[&: 4F , #2185 C34, fIB F5%: 36 [X7:-15,Y21:+211] R~F: 90 cm * 80 cm , & 380.0 cm

#8 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| E B (Lg)(JEE
[#E#=0))
#4 sMER- £ T i SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
L+ TiE#ER= 335.8*16/100=53.72 M
#4 SN ERR-h R SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh J 45 B 4= Int(((380-70)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 SNER-RE SV R EE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHR-KERE | XOKP)MEEF )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
<7 B[ *2=219.6 )
Y(EE)ERE(HB)= (80-2*[{R#[B14+2*[135E & £4]13.9)
*2=199.6
#4 B5- LT #4_F T iiHE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ E TR R= (219.6+199.6)*16/100=67.1 M
#4 M- R IR #A4TH R 5EE B= Int(((380-70)/2)/15.0)+1=11 46.1
<2 hRiGFHER = (219.6+199.6)*11/100=46.1 M

Page 23/48



#4 BE-REE

HARFEHE=(219.6+199.6)*Int(70/10)/100= 29.34 M

293

BERGE:

LEFEE:(E1)16-#8 (FH2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
B335 (1)58:8-8*16%

BRRETE:
FHEhR:(90+80)*2*380/10000=12.92 M2
AR E AR IO

%:158:-(B22) 45*60/10000=0.27
5:2i%:-(G35) 45*70/10000=0.32
%5:3i%:-(B23) 45*60/10000=0.27
%:4;%:-(G36) 50*60/10000=0.30
LLE/NET:1.16 M2
FERRE AR R IO RR:
:172:30.00*16/10000=0.0480
5:27%:40.00*16/10000=0.0640
%:372:30.00*16/10000=0.0480
%:4%:40.00*16/10000=0.0640
LLE/INET:0.2240 M2
RS E AR RO RR:

E RS 1(E)-:B23=15%(380-60)/10000=0.48
E iR 2(BRE)-:B22=15*(380-60)/10000=0.48

Ll E/NEF0.96 M2
ﬁﬁl%rﬁgﬁnz.gz-[ﬁ@wgn A6-[FERR 3T HE]0.22-[4E 15 35 $£]0.96=10.58 M2
RCEHE:

90*80*380/1000000= 2.736 M3
-------------- ELR- K L 1Y p—
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T
BAR/IVET(E) = 10.58 M2
iR /INE =2.736 M3

PNA21-01-#88: 4F , #HL5%: C36, (& F5%:

47 [X10:-175,Y21:+211] R~F: 90 cm * 80 cm , #5: 380.0 cm

#8 TH(EE-LEE (380+0.00)*16/100 60.80
r FE) 1 5+ O0RE 2 4084
TE(fEHE[EE=0])
#4 SMEfR- £ T iR SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEBIE= Int(((380-70)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 ST R SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
g th A5 28= Int(((380-70)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 NER-BRE SRR B (B )= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHERRE-KTER,E | XOKF)AREEFRIE)= (90-2*[{RERE]4+2*135E E£]13.9)
</ e *2=219.6 ]
Y(EE)EREE(HT)= (80-2*[{R#[B14+2*[135FE E£4]13.9)
*2=199.6
#4 BA5-E T % #4 T iR BE= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETin#ER= (219.6+199.6)*16/100=67.1 M
#4 BEh-pRih #4th R 5 8= Int(((380-70)/2)/15.0)+1=11 46.1
<2 rhRiG#E R = (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HAR B [ K =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERIE:

TR GEXHX ($12)X-#X
ABHIH:(HE1)16-#8 (FH2)X-#X
BHERE(1)MHE:8-T*163
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BhRETE:
FHEHR:(90+80)*2*380/10000=12.92 M2
HRE SRR
%:158:-(B26) 45*60/10000=0.27
%:2;:8:-(B27) 45*60/10000=0.27
%:358:-(G34) 45*70/10000=0.32
KL E/VET:0.86 M2

RS R
%:158:30.00*16/10000=0.0480
%:358:30.00*16/10000=0.0480
%:458:40.00*16/10000=0.0640
Ll E/hEH0.1600 M2

SRR

EHEIE 1 (FRIE)--B27=15%(380-60)/10000=0.48
E RIS 2(FRE)--B26=15%(380-60)/10000=0.48

LA E/VEE:0.96 M2

WRhR AR ET:12.92-[#F 423 $]0.86-[#E kR XX $%]0.16- [ 15 3 $£]0.96=10.95 M2

RC:tH&E:
90*80*380/1000000= 2.736 M3

Mt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$AfR/INET =04971 T
BAR/NEH(E) = 10.95 M2
R /NG = 2.736 M3

PNA21-01-#88: 4F , #4558 C32, EFR:

46 [X10:-175,Y20:+191] R~F: 90 cm * 80 cm , #&: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ Fo) & 5+ 00 R R B3
TE (R E=0])
#4 SMER- £ T i 5\ iE R BE(F2)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SN - R 5\ (F5 %)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh Je 4 2k= Int(((380-70)/2)/15.0)+1=11
th e fE e K= 335.8*11/100=36.94 M
#4 SN - R 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(REB4+2*[135F & £4]13.9)
<7 [EE *2=219.6 ]
Y(EE)ARE )= (80-2 R #EB]4+2* 135 $7]13.9)
*2=199.6
#4 Bip-LTim #4_E T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
<2 F iR R= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ABRF B K =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3

BERHE:
BRI GRNXH#X (FB2)X-#X
ABHEIH:(HE1)16-#8 (FH2)X-#X
EERE(1)M:8-T16%

BIRETE:
F#EHR:(90+80)*2*380/10000=12.92 M2
FEARE AR MO RR:

%:158:-(B26) 45*60/10000=0.27
:258:-(G31) 45*70/10000=0.32
Ll E/VEE:0.59 M2
FERRE AR M A0 B
%:3i%:30.00%16/10000=0.0480
%:4i%:40.00%16/10000=0.0640
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LI E/NEF:0.1120 M2
SRR
EREERE:1(FE SorE ZE):=15*(10-0)/10000=0.02
E RS2 (B E)-:G31=15%(130-70)/10000=0.09
EREE:3(F SorE %E):=15%(210-0)/10000=0.32
LLE/NET:0.42 M2
$§H&+¥ﬁ§:§+:12.92-[7&1%{%3??%]0.59-[7&#&3??%]0.1 1-[#EAE X $£10.42=11.80 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

st EHR:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$ARR/INET =04971 T
BAR/MEH(E) = 11.80 M2
R /NET = 2.736 M3

PNA21-01-4&8: 4F , #4888 CO, (1B FEEE: 16 [X5:-75,Y14:-234] R~t: 80 cm * 90 cm , # & 380.0 cm

#8 TH(FE1HE-LEE (380+0.00)*16/100 60.80
[_ HE)1 2 5+ 00RE H 6084
TE(HBHE[EE=0])
#4 SMER- L T i S\ B (H4)= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh B 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 MR- R 5\ (F5 %)= (80+90)*2-8%4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEER-KTERE | XOKFE)AEE(HGRE)= (80-2*[{RERB]14+2*[135EF E4$7]13.9)
</ EA *2=199.6
Y(EE)ERE(FBAE)= (90-2* [{R#[B14+2*[135FE & £4]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixEI28= Int(((380-70)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh RIFEIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRF B FE=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BESRAE:

R GRNXH#X (FE2)X-#X

ABHEEIH:(HE1)16-#8 (FH2)X-#X

EERE(1)M:8-T 16X

BhRETE:

F /R (80+90)*2*380/10000=12.92 M2

FEARE AR MO RR:
%:158:-(G8) 40*60/10000=0.24
%:258:-(B15) 45*60/10000=0.27
%:358:-(G25) 45*70/10000=0.32
%:458:-(B16) 45*60/10000=0.27
L E/MEH1.10 M2

FERRE AR M A0 BR:
%:13%:40.00%16/10000=0.0640
%5:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LLE/VEE:0.2240 M2

FERE E AR M0 RR:
EHEIE 1 (FRE)-:B15=15*(380-60)/10000=0.48
EHEIE2(FRE)-:B16=15%(380-60)/10000=0.48
EHEE:3(F HorE2E):=15%(60-0)/10000=0.09
L E/VEE:1.05 M2
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*ﬁﬁ%ﬁgﬁ‘m 2.92-[FF 3T HE]1.10-[#E R 32 $%]0.22-[#F 1& XX $%]1.05=10.55 M2
RCEH&E:
80*90*380/1000000=2.736 M3

et EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAFR/INET =04971 T
BAR/NVEH(E) = 10.55 M2
R /NET = 2.736 M3

PNA21-01-#£&: 4F , #EK5%: C22, fIE F5%: 8 [X4:+45,Y15:+196] R~t: 80 cm * 90 cm, #£5: 380.0 cm

#8 TH(EE- LR (380+0.00)*16/100 60.80
[_ FE): 7+ Q0RE 8 S8t
E(HBHE[EE=0))
#4 SV - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2R= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
<7 [EE *2=199.6 )
Y(EE)AREHRHE)= (90-2[REE4+2*[135EE$3]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE 2= Int(((380-70)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PhRim #4rh IR BIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th fifkiE R = (199.6+219.6)*11/100=46.1 M
#4 Bm-RERE #ABRF B R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERHE:

EBAEER(HR1)X-HX ($H2)X-#X
ABRERH:(HH1)16-#8 (FH2)X-#X
BIEEE(1)4:8-T 16

BARETE:

FHEER:(80+90)*2*380/10000=12.92 M2

R E S R O
%:138:-(BRF30) 30*45/10000=0.14
%£:258:-(B18) 45*60/10000=0.27
%:358:-(G22) 45*70/10000=0.32
LLE/NET:0.72 M2

FERRE FE AR AR O PR
%£:138:60.00*16/10000=0.0960
%£:258:30.00*16/10000=0.0480
%£:338:40.00*16/10000=0.0640
%£:458:80.00*16/10000=0.1280
Ll _E/NET:0.3360 M2

FENE S AR AR O PR
T 1 (BRI )-:B18=15*(380-60)/10000=0.48
DM K )-:CS=15%(380-16)/10000=0.55
g 3R K )-:CS=15%(380-16)/10000=0.55
LLE/NET1.57 M2

$§Hl%rfﬁ§§+:1 2.92-[#F 232 $£10.72-[4E AR 3T $£]0.34-[FE 1B X $£]1.57=10.29 M2

RCE&E:
80*90*380/1000000= 2.736 M3

M EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
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SRR/NET = 04971 T
HBAR/NET(E) = 10.29 M2
SRR /NET = 2.736 M3

PNA21-01-1£&: 4F , #£4L5%: C29, fIE F35%: 29 [X6:-95,Y15:+196] R~t: 80 cm * 90 cm , #75: 380.0 cm

#8 TH(E A LEE (380+0.00)*16/100 60.80
[_ ¥y 5+ 00 R B
TE (1B &I E=0])
#4 SN RS- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g | FHEEB4= Int(((380-70)/2)/10.0)+1=16
tTFiEEE= 335.8%16/100=53.72 M
#4 SMERR-h R SR EE(H )= (80+90)*2-8*4+2+13.89=335.8 36.94
g rh 5 B8= Int(((380-70)/2)/15.0)+1=11
S48 K= 335.8*11/100=36.94 M
#4 SMER-RE SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFER,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(EE)REE(HA )= (90-2*[{RE[E]14+2*[135E & £1]13.9)
*2=219.6
#4 Bi5- g #4 £ T ik 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETFigiaR= (199.6+219.6)*16/100=67.1 M
#4 Bih-ch s #4 th RIHEB= Int(((380-70)/2)/15.0)+1=11 46.1
<7 L% R = (199.6+219.6)*11/100=46.1 M
#4 BH-BREE #ABRZ E 1R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESTE

AT GR)XHX (H2)X-#X
AR (FE1)16-#8 ($H2)X-#X
B RE(1)MH:8-TH 16X
EhRETE:
T 48HR:(80+90)*2*380/10000=12.92 M2
RSB AE IR OB
%:138:-(BRF30) 30*45/10000=0.14
25:2i8:-(G29) 45*70/10000=0.32
%:358:-(B17) 45*60/10000=0.27
L E/NEH0.72 M2
FE MBI AR R 3O B
25:138:60.00*16/10000=0.0960
25:3i8:40.00*16/10000=0.0640
25:438:30.00*16/10000=0.0480
LL_E/VE:0.2080 M2
NS E AR R O B
IR (BRI )-:G29=15"(10-10)/10000=0.00
Ll _E/VE:0.00 M2
ﬁm%rﬁéﬁn2.92-[*1#3:’5??&]0.72-[*1#&3??&]0.21-[#I % 32 $£]0.00=11.99 M2
RCEH&E:
80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/NEH(E) = 11.99 M2
R /NET = 2.736 M3

PNA21-01-#£&: 4F , #5085 C26, fiB F5E: 18 [X5:-75,Y15:+196] R~t: 80 cm * 90 cm , #&: 380.0 cm
#8 r EMH(E - LBE (380+0.00)*16/100 60.80

) EHH+90E E s
E (fEHE[HE H=0])
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SMERS- £ T SMEEE(F )= (80+90)*2-8*4+2+*13.89=335.8 53.72
L+ T #EE= Int((380-70)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

#4

SRS R sM4E 5 B (F7)= (80+90)*2-8*4+2+13.89=335.8 36.94
th R B #= Int(((380-70)/2)/15.0)+1=11
s 48 & = 335.8°11/100=36.94 M

#4

(Int(70/10))*335.8/100=23.50 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
BE *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

BT #4 T 5B %= Int(((380-70)/2)/10.0)+1=16 67.1
LTk E= (199.6+219.6)16/100=67.1 M

#4

8-l #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
th R ifkiE R = (199.6+219.6)*11/100=46.1 M

#4

BH-BERE #ABRFEHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

#4 g o\ A -BR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
#4

fBEETE:

EBHE(R1)XHX ($2)X-#X
ABHE:(H01)16-#8 (FA2)X-#X
BIERE(1)ME:8-T*6%
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
%5:1;8:-(BRF30) 30*45/10000=0.14
25:2i8:-(B17) 45*60/10000=0.27
25:3i8:-(G26) 45*70/10000=0.32
%5:438:-(B18) 45*60/10000=0.27
KL E/NEE:0.99 M2

FE MBS R OB
25:138:60.00*16/10000=0.0960
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
L E/NEF0.2560 M2

RS E AR R O B
S 1(FRE)-:B17=15%(380-60)/10000=0.48
T 2(FRE)-:B18=15%(380-60)/10000=0.48

Ll E/NEF0.96 M2
ﬁm%rﬁg?m2.92-[*11»‘;’.2&;&]0.99-[$IH&§?%]0.26-[&;1%3?#&]0.9&1o.71 M2
RCETE:

80*90*380/1000000= 2.736 M3
-------------- ELR- K 1 1Y S——
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/NVET(E) = 10.71 M2
R /NGt = 2.736 M3

PNA21-01-#£8: 4F , #£08%: C23, fiB F5E: 9 [X4:+45,Y17:+26] R~F: 80 cm * 90 cm , 3 &: 380.0 cm

#8 TH(FE1HE-EEE (380+0.00)*16/100 60.80
r HE)- £+ 00FE 2 38
TE (1[I #E=0])
#4 SVMERR- £ T SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THEBIE= Int(((380-70)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
@ o SRR E8= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
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#4 SN - S\ R ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E (G H4E)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (0-2* IR HEB4+2*[1355 E£4]13.9)
*2=219.6
#4 B Tk #4 1 T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BEH-BEE HARE B E=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBREEH(R1)XHX ($2)X-#X
ABAEE:(181)16-#8 (H2)X-#X
BIERE(1)ME:8-T*6

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

55:1i8:-(G22) 45*70/10000=0.32
%:25%:-(B20) 45*60/10000=0.27
%:35%:-(G23) 45*70/10000=0.32
LLE/VET:0.90 M2

HEMRE AR MR 0 PR

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LL_E/VET:0.3040 M2

RSB R AR M O PR
EIENE (R
BN 2(MUE
RS 3(hRE
B ARE

~— ~— ~— ~—

LLE/NEE2.12 M2
AR RS 12.92-[#F#R 3 $]0.90-[#E iR 32 $%]0.30-[4E 1% 32 $£]2.12=9.60 M2

RCEHE:

80*90*380/1000000= 2.736 M3

MArEt HAER:

-:51=15%(380-16)/10000=0.55
-:CS=15%(380-16)/10000=0.55
-:CS=15%(380-16)/10000=0.55
-:B20=15%(380-60)/10000=0.48

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SAER/INET =04971 T
HRR/INET () = 9.60 M2
R /NGt = 2.736 M3

PNA21-01-#8f8: 4F , #HL5%: C30, fiE Fok:

30 [X6:-95,Y17:+26] R~F: 80 cm * 90 cm , 45 380.0 cm

#8 TH(FE1HE-LEE (380+0.00)*16/100 60.80
r HE)- £+ 00RE 2 38
TE (1[I #E=0])
#4 SMERR-L T i HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((380-70)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SV - R HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g th G 28= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 ST - MERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
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EmEBERR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (90-2* IR B4+2*[1355 E£4]13.9)
*2=219.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh i #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BE-BEE HARE B E=(199.6+219.6)Int(70/10)/100= 29.34 M 29.3
FEEHE

EBRE T (R1)XHX ($2)X-#X
ABAEE:(101)16-#8 ($B2)X-#X
BIERE(1)ME:8-T*6%

BhREHE:

F 1% hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:158:-(G29) 45*70/10000=0.32
%:25%:-(G30) 45*70/10000=0.32
%:352:-(B19) 45*60/10000=0.27
LLE/VET:0.90 M2

HEMRE AR MR 0 PR

%:15%:40.00*16/10000=0.0640
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.1760 M2

HEAS B R AR M O PR

TR 1 (B2 )-:G30=15%(20-20)/10000=0.00
TE 2 (MRE )-:S2=15%(210-16)/10000=0.29
TR 312K )-:G29=15%(130-70)/10000=0.09
Ll _E/VET:0.38 M2
AR ABET:12.92-[FE R $£]0.90-[#F hR 32 $10.18- [ 15 38 $%]0.38=11.46 M2

RCEHE:

80*90*380/1000000= 2.736 M3

MArEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NEH(E) = 11.46 M2

B /e =2.736 M3

PNA21-01-#£8: 4F , #£08%: C27, LiBF8E: 19 [X5:-75,Y17:+26] R~F: 80 cm * 90 cm , #&: 380.0 cm

#8 TH(FE1HE-LEE (380+0.00)*16/100 60.80
r H)- 3 5+ 00 R S84
E(FEE[EE=0])
#4 SVERR- - T i s\iER B ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((380-70)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 SMERR-P R s\ER B ()= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 S\ ERR- R SRR B ()= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHERRE-KFERE | XOKF)AEEFRIE)= (80-2 [{RERE]4+2*135E E]13.9)
</ Em[ *2=199.6 .
Y(EE)EREE(HBE)= (90-2*[{R#[B14+2*[135 £ £]13.9)
*2=219.6
#4 BA5-E T % #4 - T iRE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETim#ER= (199.6+219.6)*16/100=67.1 M
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#4 B H-th R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 Bi5-BREE HARF EH5=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
tBERaTE:

EBHEHHR)XAX (H2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
RS (1)MH:8-TH 16X
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
%5:1i8:-(G26) 45*70/10000=0.32
25:2i8:-(B19) 45*60/10000=0.27
%:358:-(G27) 45*70/10000=0.32
25:438:-(B20) 45*60/10000=0.27
LLE/NER1.17 M2
FERRE BEAR MR 0 B
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
LL_E/NE:0.2240 M2
NS E AR M0 R
I 1(FRE)-:B19=15%(380-60)/10000=0.48
2 (KK )-:B20=15%(380-60)/10000=0.48
Ll _E/NET:0.96 M2
$§H%ﬁ§§+:12.92-[$1?£§?§]1 AT-[AERR 3 $%]0.22-[#E 15 X $£]0.96=10.57 M2
RCEE:
80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAER/INET =04971 T
BAR/NET(E) = 10.57 M2
iR /INE =2.736 M3

PNA21-01-#£8: 4F , #5885 C23, RIBF5E: 10 [X4:+45,Y19:-144] R~t: 80 cm * 90 cm , #&: 380.0 cm

#8 TH(FE1HE-EEE (380+0.00)*16/100 60.80
r FE) 2 5+ 00 R B3
TE(MBIE[EE=0))
#4 sMER- £ T i SV R EE(HT5)= (80+90)*2-8*4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
+ TiE#ER= 335.8*16/100=53.72 M
#4 SR -t 3 SV R EE(H5)= (80+90)*2-8*4+2*13.89=335.8 36.94
g th R G 28= Int(((380-70)/2)/15.0)+1=11
rhRfiEiE K= 335.8*11/100=36.94 M
#4 S\ R-BRE SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHR-KERE | XOKP)MEEF )= (80-2*[{RERE]4+2[135E E4$7]13.9)
<7 B[ *2=199.6 .
Y(EE)AREE ()= (90-2*[{RE[B14+2*[135E £ £1]13.9)
*2=219.6
#4 B5- LT #4_F T iHE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 BB W-h R R #4rh RIHEB= Int(((380-70)/2)/15.0)+1=11 46.1
<2 rhRiG#E R = (199.6+219.6)*11/100=46.1 M
#4 BH-BRERE #ARZEHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
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s R

TR GRNXH#X (#B2)X-#X
ABHEIH:(HE1)16-#8 (FH2)X-#X
BIERE(1)MH:8-T*163

RhREt H:

FHEHR:(80+90)*2*380/10000=12.92 M2

HEEEAR RO

%:158:-(G23) 45*70/10000=0.32
%:2;:8:-(B20) 45*60/10000=0.27
%:358:-(G23) 45*70/10000=0.32
LLE/VET:0.90 M2

HEMREEAR MR O BR:

%:13i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:80.00%16/10000=0.1280
LL_E/NEH:0.3040 M2

RS E AR RO PR
BRI (MR
BRI 2 (M
B IE 3 (M
B A(RE

L E/NEE2.12 M2
FERRAEET:12.92-[FE R 32 $£]0.90-[#F hir 32 $]0. 30-[#1 48 32 $%]2.12=9.60 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3

et HAER:

-:CS=15*(380-16)/10000=0.55
-:CS=15*(380-16)/10000=0.55
-:81=15%(380-16)/10000=0.55
-:B20=15%(380-60)/10000=0.48

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T

BAR/MVEH(E) = 9.60 M2
R /NET = 2.736 M3

PNA21-01-#&&: 4F , #1855 C24, SIEFH%: 11 [X4:+45,Y20:+186] R~F: 80 cm * 90 cm , 4 5: 380.0 cm

#8 TH(E1E- L EE (380+0.00)*16/100 60.80
[_ HE)+ 2 5+ 00K H 688
TE (B[ E=0))
#4 SMER- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 HME - R SR E(FHH2)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ REE(FHF2)= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEER-KTERE | XOKFE)AEE(HGRIE)= (80-2*[{RERB]14+2*[135E E$7]13.9)
< E[A *2=199.6 .
Y(EE)ERE(FHH)= (90-2*[{R#E[B]4+2*[135F $4]13.9)
*2=219.6
#4 B5- £ T #4_ T B 2= Int(((380-70)/2)/10.0)+1=16 67.1
S L TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IF B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<2 PR R= (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R [E K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

feERIE:

BRI GRNXH#X (FB2)X-#X
ABHEIH:(FE1)16-#8 (FH2)X-#X
1EERE(1)M:8-T16%

BRETE:

F 1% hir:(80+90)*2*380/10000=12.92 M2

HEREEAR RO
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% 152:-(G23) 45*70/10000=0.32
%:2;58:-(B20) 45*60/10000=0.27
%:358:-(G24) 45*70/10000=0.32
LA _E/NET:0.90 M2
FERRE R RO
%:1i%£:40.00*16/10000=0.0640
%:2i%£:30.00*16/10000=0.0480
%:3i£:40.00*16/10000=0.0640
%:4i%£:80.00*16/10000=0.1280
Ll E/VEH:0.3040 M2
SRR R
E RS 1 (FRE)-:G24=15%(10-10)/10000=0.00
E RS 2(FRE )-:B20=15%(380-60)/10000=0.48
:CS=15*(380-16)/10000=0.55
E N 4(kRUE)-:CS=15%*(380-16)/10000=0.55
E R 5(RUE)-:S1=15%(380-16)/10000=0.55
L E/NEE2.12 M2
FERR AR ET:12.92-[FE B 32 $£]0.90-[#F hir 32 $]0. 30-[#1 48 32 $%]2.12=9.60 M2

(
B IE 3 (M
(

RCEHE:

)-
)-
)-
)-
)-

80*90*380/1000000= 2.736 M3

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T

BAR/MVEH(E) = 9.60 M2
RN = 2.736 M3

PNA21-01-#£f&: 4F , #£L5%: C30, fIE F5%: 31 [X6:-95,Y19:-144] R~t: 80 cm * 90 cm , #&: 380.0 cm

#8 TH(E1E- L EE (380+0.00)*16/100 60.80
[_ Fo) & 5+ 00 R R B3
TE (R E=0])
#4 S\ AR- £ T iR SERE(H )= (80+90)*2-8*4+2%13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMERR-TP R 5\ iE R BE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2k= Int(((380-70)/2)/15.0)+1=11
th 5 e K= 335.8*11/100=36.94 M
#4 SNiER-BRE 5\ 5 R BE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHmR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
<7 [EE *2=199.6 ]
Y(EE)ARE )= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
<2 E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th fifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

faERdE:

R GRNXH#X (FE2)X-#X
ARBHEEIH:(HE1)16-#8 (FH2)X-#X
EERE(1)M:8-T16%

BT E:

F 1% hir:(80+90)*2*380/10000=12.92 M2

HEEERR RO
%:158:-(G30) 45*70/10000=0.32
5:258:-(G30) 45*70/10000=0.32
%:358:-(B19) 45*60/10000=0.27
LLE/VET:0.90 M2

HEME AR MR O PR:
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%:1:2.40.00"16/10000=0.0640
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/NEH:0.1760 M2
NS B AR IR
EREEE:1(FE S orE ZE):=15%(130-0)/10000=0.20
E RS 2(FRE)-:G30=15%(10-10)/10000=0.00
LLE/NEF:0.20 M2
$§H&+ﬁ§:§+:1 2.92-[#F 3 $£]0.90-[#E ki 32 $%]0.18-[#F 15 %X $%]0.20=11.65 M2
RC:Et&E:
80*90*380/1000000= 2.736 M3

et EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAfR/INET =04971 T
BAR/VEH(E) = 11.65 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 4F , #:1t5%: C28, IER3%: 21 [X5:-75,Y20:+186] R~: 80 cm * 90 cm , #£5;: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ FE): 5+ Q0RE 8 S8t
TE (B[ E=0])
#4 SMER- L T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh S 2k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE S\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEER-KTERE | XOKFE)AEEHGRE)= (80-2*[{RERB]4+2*[135E E4£7]13.9)
</ E[A *2=199.6 .
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixEI28= Int(((380-70)/2)/10.0)+1=16 67.1
< F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRF B K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESTE:

BRI GRNXH#X (fE2)X-#X

ABHIH:(HE1)16-#8 (FH2)X-#X

EERE(1)M:8-T16%

BhRETE:

F#HR:(80+90)*2*380/10000=12.92 M2

FEARE AR MO RR:
%:158:-(G27) 45*70/10000=0.32
%:258:-(B17) 45*60/10000=0.27
%:358:-(G40) 45*70/10000=0.32
%:458:-(B20) 45*60/10000=0.27
LLE/NEH1.17 M2

FERRE AR MR A0 BR:
%:13%:40.00%16/10000=0.0640
£:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LLE/VEE:0.2240 M2

FEAE E AR M0 RR:
EHEIE 1 (FREE)-:B20=15%(380-60)/10000=0.48
EHEIE:2(FREE)-:B17=15%(380-60)/10000=0.48
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EERE:3(F SorEZE):=12*(35-0)/10000=0.04
EHEE 4 SorE ZE):=10%(20-0)/10000=0.02
LLE/NET:1.02 M2
$§Hls‘z+{h§:§+:12.92-[m%2§?§]1 AT7-[#ERR3$%]0.22-[#E 15 32 $]1.02=10.50 M2
RCEtE&:
80*90%380/1000000= 2.736 M3
-------------- FECE T 1 S—
T EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
AR/ = 04971 T
HRR/INETH(E) = 10.50 M2
BB /NG =2.736 M3

PNA21-01-#&/8: 4F , $:1t5%: C4, (LB F55: 6 [X4:+45,Y14:-234] R~F:80 cm * 90 cm , #£5: 380.0 cm

#8 TH(EE- L EE (380+0.00)*16/100 60.80
[_ ¥E): 5+ Q0RE 8 S8t
TE (BB E=0))
#4 SN - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 HME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
B rh S 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEBEHGR-KFERE | XOKF)AREFRE)= (80-2 [(RERB4+2*[135E & £4]13.9)
<7 (=R *2=199.6 )
Y(EE)AREHRHE)= (90-2[REE4+2*[135EE$7]13.9)
*2=219.6
#4 Bip-LTim #4_F T imE28= Int(((380-70)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR BIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-REE #ABRF B R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESE:

EEREEH:(HR1)X-HX (HB2)X-#X
ABREH:(HE1)16-#8 (FH2)X-#X
BERE(1)MHE:8-T*16%

ARt E:

F#EKR:(80+90)*2*380/10000=12.92 M2

HARE RO
%:1i8:-(B16) 45*60/10000=0.27
%:258:-(G21) 45*70/10000=0.32
Ll E/NEH0.59 M2

FERRE A AR O
%:2i%:30.00*16/10000=0.0480
%:3i%:40.00*16/10000=0.0640
%:4:8:80.00*16/10000=0.1280
Ll EsNEH0.2400 M2

AR E RO
RS 1 (12K )-:B16=15%(380-60)/10000=0.48
TR 2(MRE )-:CS=15%(380-16)/10000=0.55
RS 3(MRE )-:CS=15%(380-16)/10000=0.55
LLE/INEH:1.57 M2

$§Hl%rﬁ%§§+:12.92-[#?5?%3‘5#%]0.59-[#:’5#&33#&]0.24-[#2 & $£]1.57=10.52 M2

RC:EtHE:

80*90*380/1000000= 2.736 M3

ARt H AR
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
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#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$RR/INET =04971 T
BAR/NET(E) = 10.52 M2
SRR /NET = 2.736 M3

PNA21-01-1£f&: 4F , #£4K5%: C6, MEFF5k: 12 [X5:+145,Y8:+51] R~F: 80 cm * 90 cm , #75: 380.0 cm

#8 TH(E 1A LEE (380+0.00)*16/100 60.80
[_ Fe) 2 5+ 00 B B
TE (1B &I HE=0])
#4 SN RS- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g T S= Int(((380-70)/2)/10.0)+1=16
tTiEEERE= 335.8416/100=53.72 M
#4 SMERR-Th R SR EE(H )= (80+90)*2-8*4+2+13.89=335.8 36.94
g rh 5 B8= Int(((380-70)/2)/15.0)+1=11
S48 K= 335.8*11/100=36.94 M
#4 SMERR-RE SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFER,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 B *2=199.6 .
Y(EE)REE(HARH)= (90-2*[{RE[E]14+2*[135E & £7]13.9)
*2=219.6
#4 Bi5- T #4 £ T ik S= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETFigiEaR= (199.6+219.6)*16/100=67.1 M
#4 - s #4 th RIHE B= Int(((380-70)/2)/15.0)+1=11 46.1
<7 L% R = (199.6+219.6)*11/100=46.1 M
#4 BH-BREE #ABRZ E 1R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESTE

TR E S (R)XHX (#82)X#X

AR (FE1)16-#8 ($H2)X-#X

B8 (1)#H:8-T16%

ERETE:

F 12 hR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
%:158:-(CG5) 45*70/10000=0.32
5:2i%:-(B1) 45*60/10000=0.27
%:3%:-(G5) 45*70/10000=0.32
%:4;8:-(B2) 45*60/10000=0.27
LA E/INEF:1.17 M2

FERRE AR R A0 B
:178:45.00*16/10000=0.0720
££:2%:30.00*16/10000=0.0480
%:358:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LA E/NET:0.2320 M2

NS E AR AR A0 B
B 1(BE)-:B2=15%(380-60)/10000=0.48
BN 2(BE)-.CG5=15*(10-10)/10000=0.00
B 3(BE)-:B1=15*(380-60)/10000=0.48

Ll E/NEF0.96 M2
$§Hﬁ$§§+:12.92-ﬁ1@§¢§]1 A7-[FERR3ZHE]0.23-[4E 15 32 $£]0.96=10.56 M2
RCETE:

80*90*380/1000000= 2.736 M3
-------------- ELR- Y J—
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/INET(E) = 10.56 M2
R /NGt = 2.736 M3
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PNA21-01-t8/8: 4F , #4t58: C11, (B F5%:

27 [X6:-95,Y14:-234] R~:80 cm * 90 cm , #5: 380.0 cm

#8 EH(EE- L EE (380+0.00)*16/100 60.80
[_ FE) o 5+ 00 03
TE (BRI E=0])
#4 SN R- £ T iR S\ EE(F2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g £ THEE2= Int(((380-70)/2)/10.0)+1=16
Lt THE#EERE= 335.816/100=53.72 M
#4 SV - R SR E(H2)= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh g 45 Bl 4= Int(((380-70)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 S\ - 2R S\ R E ()= (80+90)*2-8*4+2%13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEBEHRE-KERE | XCOKPE)AEE(FRE)= (80-2*[{RERE]4+2*[135E E4$7]13.9)
<7 A *2=199.6 .
Y(EE)ERE(HHBAE)= (90-2*[{R#[B14+2*[135FE & £7]13.9)
*2=219.6
#4 B5- LT #4_F T B 8= Int(((380-70)/2)/10.0)+1=16 67.1
<7 E TR R= (199.6+219.6)*16/100=67.1 M
#4 M- R #4th RIHE B= Int(((380-70)/2)/15.0)+1=11 46.1
<7 R GHER = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HAR B EHERK=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERHE:

B ERNXAX (HE2)X-#X
RERTE:(H1)16-#8 (FH2)X-#X
BEERE(1)ME:8-T16%
EARETE:
FHEHR:(80+90)*2*380/10000=12.92 M2
HREEEMR I
%:1;:8:-(G10) 45*60/10000=0.27
%:2;:8:-(G28) 45*70/10000=0.32
%:358:-(B15) 45*60/10000=0.27
LA E/NEE:0.86 M2
RS R
%:1i£:40.00*16/10000=0.0640
%:3i£:40.00*16/10000=0.0640
%:4i£:30.00*16/10000=0.0480
Ll E/NEH0.1760 M2
SRR
LA E/VEE:0.00 M2
$Eﬁlxi+.ff§:§+:1 2.92-[#F ¥ 3X $£]0.86-[41 il 33 $%]0.18-[#1 1% 35 $£]0.00=11.89 M2
RCEtE&E:
80%90*380/1000000= 2.736 M3
-------------- SHERERDE -
e EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
AR/ = 04971 T
HRR/NVEH(E) = 11.89 M2
iBEEL/NET = 2.736 M3

PNA21-01-#£f&: 4F , H(BEE)HK5%: C10, fii&E Fa%: 26 [X6:-10,Y13:-79] EEFE: 90 cm , #5&: 380.0 cm

#8 Iﬁ'ﬁ(%']%ﬂ-igﬂ (380+0.00)*14/100 53.20
[_ H) & B+ 00 $8 858
(R E0])
SMEAR- £ T i SME R E(BEf2)= (90-4*2)*3.1416+2*48*1.27=379.5 60.72

L+ THEEI = Int(((380-70)/2)/10.0)+1=16
+ FTiE#ER= 379.516/100=60.72 M

"0
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#4 SV - R SV R EE (B2 )= (90-4*2)*3.1416+2*48%1.27=379.5 4175
@ rh 5 B8 = Int(((380-70)/2)/15.0)+1=11
rhRfERER = 379.5*11/100=41.75 M
#4 VAS il e S5 E (Bf2)= (90-4*2)*3.1416+2*48%1.27=379.5 26.57
@ (Int(70/10))*379.5/100=26.57 M
RHEBEHERE-RCI(E) X(KF)E R E (B4 )= (90-2*4+2[3#]*1.27*[£5$8]6)*2=194.5
</ Y(EE)ARE(BER)= (90-2*4+2[1#]*1.27 £ £1]6)*2=194.5
#4 B - LT #4_E T i $= Int(((380-70)/2)/10.0)+1=16 62.2
</ E T R= (194.5+194.5)*16/100=62.2 M
#4 BE-hRin #4rh R B E= Int(((380-70)/2)/15.0)+1=11 42.8
<7 th JifkiE R = (194.5+194.5)*11/100=42.8 M
#4 BH-BERE #ABRZ EHE R =(194.5+194.5)*Int(70/10)/100= 27.23 M 27.2
EEstE:

R GRNXH#X (#B2)X-#X
ABHEIH:(HE1)14-#8 (FH2)X-#X
TEESRE()M:8-T14%
BhRETE:
FEMR(EE4%):(90*3.1416)*380/10000=10.74 M2
FERE AR MO RR:
%5:13%:-(G9) 45*70/10000=0.32
%:258:-(G10) 45*60/10000=0.27
%:358:-(B7) 45*60/10000=0.27
LLE/VEt:0.86 M2

FERRE AR M A0 BR:
%:1i%:40.00%16/10000=0.0640
%:3i%:40.00%16/10000=0.0640
%:4i%:40.00%16/10000=0.0640
Ll E/vEH:0.1920 M2

AR E AR RO RR:
Ll _E/NET:0.00 M2
$§Hl_%rffa§§+:1 0.74-[# #3232 $£10.86-[4E kit 33 $%]0.19-[#F 4% 32 $£]0.00=9.70 M2
RCEH&E:
Efs4%: (90/2)22*3.1416*380/1000000= 2.417 M3
-------------- EIRCE -1 1Ls ——
st EHER:

#4=261.287 M (261.287 M*0.994/1000= 0.2597 T)
#8=53.200 M (53.200 M*3.980/1000= 0.2117 T)

$ARR/INET = 04715 T

BAR/NVET(E) = 9.70 M2

SR NET = 2.417 M3

PNA21-01-1£&: 4F , #£4K5%: C15, f1E 3% 39 [X8:+90,Y13:+215] R~t: 90 cm * 80 cm, #&: 120.0 cm

#8 FH(FE1R-LEE (120+0.00)*16/100 19.20
[_ 1) B+ 00 S8
TE(fEHE[BE=0])
#4 SER- L T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 23.50
g E T = Int(((120-0)/2)/10.0)+1=7
+ TR E= 335.87/100=23.50 M
#4 s R-Th R SR EE ()= (90+80)*2-8*4+2*13.89=335.8 16.79
g s R FEEER= Int(((120-0)/2)/15.0)+1=5
th R fimf@ K= 335.8*5/100=16.79 M
#4 s\ RS- BR SR EE ()= (90+80)*2-8*4+2*13.89=335.8 0.00
g (Int(0/10))*335.8/100=0.00 M
EHELR-KTER,E X(KF)RRE (A )= (90-2*[{RFE&B14+2*[135E E$5]13.9)
</ Em[ *2=219.6 .
Y(EE)REE (A= (80-2*[{REB14+2*[135E & $7]13.9)
*2=199.6
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#4 B5- £ Tin #4_ TR 2= Int(((120-0)/2)/10.0)+1=7 29.3
<7 E T R= (219.6+199.6)*7/100=29.3 M
#4 BE-hRin #4rh RIHE B E= Int(((120-0)/2)/15.0)+1=5 21.0
<7 ik K= (219.6+199.6)*5/100=21.0 M
#4 Bm-BERE HAR R EHE K =(219.6+199.6)*Int(0/10)/100= 0.00 M 0.0
fEEsTE:

EBEEE(HR1)X-#X ($H2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
IS E(1)ME:8-T 16X
BhRET &
FHERR:(90+80)*2*120/10000=4.08 M2
PR E AR MO RR:
Ll _E/VE:0.00 M2
FERRE BEAR MR 0 B
LL_E/VE1:0.0000 M2
NS E AR MO R
1 (3 BorBZ2):=15%(200-0)/10000=0.30
2 (3 BorEZ):=15%(10-0)/10000=0.02
LLE/NET:0.32 M2
$§Hl%rfh§§+:4.08—[&@{&‘?ﬁ]o.oo-[ffiﬂliﬁ?&]O.oo-[m‘“'*?&]0 .32=3.77 M2
RCEHE:
90*80*120/1000000= 0.864 M3
-------------- HEHR DN
Mt EER:
#4=90.589 M (90.589 M*0.994/1000= 0.0900 T)
#8=19.200 M (19.200 M*3.980/1000= 0.0764 T)
MAER/NET =0.1665 T
ERR/INET () = 3.77 M2
R /NEt = 0.864 M3

PNA21-01-#28: 4F , #£X5%: C37, LB 5%: 4 [X4:+222,Y22:+81] R~T(BH#): B{E411 cm Eim#&: 9990 cm2,

#=:380.0cm
B A #2 R ~1:100.0 cm * 100.0 cm
#8 F Hh (5 1HR-—HEB): (380+0)*18/100 68.40
| g B (Lo (B
[#&#%=0])
#4 SN RR- £ T iR SMERE(H )= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 63.29
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 395.6*16/100=63.29 M
#4 SME - R SR E ()= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 43.51
@ R EE 2= Int(((380-70)/2)/15.0)+1=11
th e K= 395.6*11/100=43.51 M
#4 SMER-RE S\ EE(H2)= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 27.69
@ (Int(70/10))*395.6/100=27.69 M
BHEER-KTERE | XOKFE)ARE(FGRIE)= (99.95077-2*[{RE&fE14+2 [135E &
<2 [EE $4]13.9)*4=478.9
Y(EE)ARE(HFAE)= (99.95077-2 (R EB14+2*[135F &
$]13.9)*2=239.5
#4 BH5-E T #4_ b TR 2= Int(((380-70)/2)/10.0)+1=16 114.9
<2 T R= (478.9+239.5)*16/100=114.9 M
#4 8-l #4rh R IFEIEL= Int(((380-70)/2)/15.0)+1=11 79.0
<7 ik R = (478.9+239.5)*11/100=79.0 M
#4 BH-BREE HARZ [ERE R =(478.9+239.5)*Int(70/10)/100= 50.29 M 50.3
EESETE

LREETH:(FE1)18-#8 (FH2)X-#X
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ANERE 5 (FH1)18-#8 (FH2)X#X
B85 (1)58:8-8*18%
BT E:

FTHAR B BHERE]1411.3*380/10000=15.63 M2

BRI OB
%:138:-(B21) 45*70/10000=0.32
L E/MEF0.32 M2

FE MBI AR IR OB
%:138:132.00¥16/10000=0.2112
%:2i%:40.00*16/10000=0.0640
%5:3i%£:90.00*16/10000=0.1440
L E/NET0.4192 M2

RS E R AR M O PR
EEIE:1(MRE)-:S0=20%(380-16)/10000=0.73
EEE:2(ME)-:S0=20%(380-16)/10000=0.73
E S 3(ME)-:S0=20%(380-16)/10000=0.73
E M 4(hRE)-:S0=10%(60-16)/10000=0.04

LLE/NET:2.23 M2

$§H}%r{h§§+:1 5.63-[4E 23X $]0.32-[FE AR 32 110 .4 2-[FE #5325 $£]2.23=12.67 M2
RCEtHE:

(B Fa 4% 8 E#5]9990.2*380/1000000=3.796 M3
-------------- EY R K -1 <0] ¥ ——
Mt ERR:

#4=378.751 M (378.751 M*0.994/1000= 0.3765 T)

#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
MER/INET =0.6487 T
BAR/NEH(E) = 12.67 M2
Es /e =3.796 M3

PNA21-01-#£8: 4F , #X8%: C21, SIEFF5%: 52 [X12:-67,Y13:-165] R~F: 90 cm * 80 cm , 4 &: 117.0 cm

#8 TH(EE-LEE (117+0.00)*16/100 18.72
r FE)- 2 5+ 00 8 S84
TE(MBIE[EE=0)
#4 SMER- £ T i SV R EE(H )= (90+80)*2-8*4+2*13.89=335.8 10.07
g ETHEE= Int(((117-70)/2)/10.0)+1=3
L+ T K= 335.8*3/100=10.07 M
#4 ST R SV R EE(H )= (90+80)*2-8*4+2*13.89=335.8 6.72
g R 5B 28= Int(((117-70)/2)/15.0)+1=2
rh R fE#E K= 335.8*2/100=6.72 M
#4 SNE-BRE SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHERRE-KFERE | XOKF)AREEFRIE)= (90-2 [{RERE]4+2*[135E E£]13.9)
<2 EM *2=219.6 )
Y(EE)ERE(H)= (80-2*[{R#[B14+2*[135EE E£4]13.9)
*2=199.6
#4 BH5- £ TiE #4_F T iHE 8= Int(((117-70)/2)/10.0)+1=3 12.6
</ £ TFin#E K= (219.6+199.6)*3/100=12.6 M
#4 M- R R #ATH R 5EE 8= Int(((117-70)/2)/15.0)+1=2 8.4
<2 rhRiG#E K= (219.6+199.6)*2/100=8.4 M
#4 BmH-RERE HARF BB R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERTE

EEREHERNXHAX (H2)X-#X
AR EH:(H1)16-48 (#2)X-#X
TR (1)4:8-T16%

EARETE:
F4HR:(90+80)*2*117/10000=3.98 M2
HARE RO

%:1i2:-(B12) 45*60/10000=0.27
%:2i2:-(B14) 45*70/10000=0.32
%:3i2:-(CB12) 45*60/10000=0.27
%:4i2:-(G17) 50*65/10000=0.33
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LLE/NEE:1.18 M2
FERRE IR IR IO PR
%:13i%:30.00%16/10000=0.0480
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:43i%:40.00%16/10000=0.0640
LL_E/NEH:0.2240 M2
NS B AR IO
EHEE:1(E SorE %E):=15%(146-0)/10000=0.22
E RS 2(FRE)-:B14=15%(96-70)/10000=0.04
LLE/NET:0.26 M2
$§H&+{f§:§+:3.98-[$ﬂ?€ RHE]1.18-[#E IR 3 $5]0.22-[#F 15 XX $%]0.26=2.32 M2
RC:EtH&E:
90*80*117/1000000= 0.842 M3
-------------- R R 0] N —
st EHR:
#4=90.589 M (90.589 M*0.994/1000= 0.0900 T)
#8=18.720 M (18.720 M*3.980/1000= 0.0745 T)
$MAR/NET =0.1646 T
BAR/NVEH(E) = 2.32 M2
R /e = 0.842 M3

PNA21-01-#£f&: 4F , #£L5%: C20, fIE F35%: 54 [X13:+221,Y12:-190] R~t: 90 cm * 80 cm , #&: 75.0 cm

#8 TH(EE- L EE (75+0.00)*16/100 12.00
[_ ¥E): 5+ Q0RE 8 S8t
TE (B[ E=0])
#4 SMER- L T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 3.36
@ T E= Int(((75-70)/2)/10.0)+1=1
T R= 335.81/100=3.36 M
#4 SN - R 55 (F52)= (90+80)*2-8*4+2*13.89=335.8 3.36
B rh REEEIE2= Int(((75-70)/2)/15.0)+1=1
th 58 K= 335.8*1/100=3.36 M
#4 SN - R 5\ (5 2)= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEBERER-KFER,E | XOKE)EEEGRIE)= (90-2*[{REB]14+2*[135E &4$7]13.9)
< [EE *2=219.6
Y(EE)AREHRHE)= (80-2[REB4+2*[135EE$7]13.9)
*2=199.6
#4 B5- LT #4 + TR EBIE= Int(((75-70)/2)/10.0)+1=1 4.2
<7 F T R= (219.6+199.6)*1/100=4.2 M
#4 8-l #4rh RIFE BL= Int(((75-70)/2)/15.0)+1=1 4.2
<7 i K= (219.6+199.6)*1/100=4.2 M
#4 BH-BERE HARFZ EHE R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EESETE:

BRI GRNXH#X (fB2)X-#X

ABHEIH:(HE1)16-#8 (FH2)X-#X

EERE(1)M:8-T 16X

BRETE:

F /R (90+80)*2*75/10000=2.55 M2

FEARE AR MO RR:
%:158:-(G14) 50*70/10000=0.35
L E/VEE:0.35 M2

FERRE AR MR A0 BR:
%:1i%:80.00%16/10000=0.1280
£5:2i%:90.00%16/10000=0.1440
%:3i%:80.00%16/10000=0.1280
%:4i%:40.00%16/10000=0.0640
LL_E/VEH:0.4640 M2

RS E AR M A0 BR:
EEE 1 (X HorE2E):=15%(75-0)/10000=0.11
B 2(FE SorE2E):=15%(75-0)/10000=0.11
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Ll E/NET:0.23 M2
*ﬁﬁ%ﬁgﬁ‘f:2.55-[1‘321’????%]O.35-[*11%&5'5?%]0.46-[&%§?§]0.23=1 51 M2
RCEtE&E:

90*80*75/1000000= 0.540 M3

et EHER:
#4=67.941 M (67.941 M*0.994/1000= 0.0675 T)
#8=12.000 M (12.000 M*3.980/1000= 0.0478 T)
$MAs/NEL =0.1153 T
BAR/NEH(E) = 1.51 M2
R /NG = 0.540 M3

PNA21-01-#£&: 4F , #£X5%: C16, SIE F55%: 49 [X11:+166,Y10:+230] R~t: 90 cm * 80 cm, #£&: 175.0 cm

#8 TH(EE- L EE (175+0.00)*16/100 28.00
[_ HE)+ 1 5+ 00RE H 6084
E(HBHE[EE=0])
#4 SMERR- £ T iR SR EE ()= (90+80)*2-8*4+2*13.89=335.8 20.15
@ T = Int(((175-70)/2)/10.0)+1=6
T K= 335.86/100=20.15 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 13.43
@ h 5 8R= Int(((175-70)/2)/15.0)+1=4
th i8R = 335.8*4/100=13.43 M
#4 SMER-RE 5\ (F52)= (90+80)*2-8%4+2*13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEEFGRE)= (90-2*[{RERB14+2*[135E E$7]13.9)
</ [EE *2=219.6 _
Y(EE)ERE(HBAE)= (80-2*[{R#[B14+2*[135F £ £4]13.9)
*2=199.6
#4 BH5-E T #4_ TR 8= Int(((175-70)/2)/10.0)+1=6 25.1
</ E i R= (219.6+199.6)*6/100=25.1 M
#4 BE-PRim #4rh RIFBIEL= Int(((175-70)/2)/15.0)+1=4 16.8
<7 i K= (219.6+199.6)*4/100=16.8 M
#4 B-RERE #ARF B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BESAE:

EEREEEERNX-HX ($2)X-#X
KRB TE:(HE1)16-48 (FA2)X-#X
EERE()M:8-T 16X
BT E:
FHEHR:(90+80)*2*175/10000=5.95 M2
B IR IO PR
%:1i8:-(G11) 50*70/10000=0.35
%:2i%:-(B11) 45*60/10000=0.27
%:3i%:-(G12) 50*70/10000=0.35
LLE/NE:0.97 M2
FERRE IR IR IO R
%:1i%:80.00*16/10000=0.1280
%:2i%:40.00*16/10000=0.0640
%:3i%:30.00*16/10000=0.0480
%:4i%:40.00*16/10000=0.0640
Ll E/NE:0.3040 M2
NS E IR AR IO R
1 (B orE ZE):=15%(200-0)/10000=0.30
TE 2 (MUK )-:S1=15%(125-16)/10000=0.16
LL_E/NE:0.46 M2
*EHE%E‘I‘:5.95—[*11’%5'5?%]O.Q?—[*IHE3"5?%]0.30—[#I5%§?§]0.46=4.21 M2
RCE&E:
90*80*175/1000000= 1.260 M3

MEEEER:
#4=128.334 M (128.334 M*0.994/1000= 0.1276 T)
#8=28.000 M (28.000 M*3.980/1000=0.1114 T)
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$MRR/MET =0.2390 T
BAR/NET(E) = 4.21 M2
SRR /NET = 1.260 M3

PNA21-01-#/8: 4F , #4X58: C18, LB 5 51 [X11:-45,Y13:-73] R~F: 90 cm * 80 cm , #¥&: 175.0 cm

#8 TH(E A LEE (175+0.00)*16/100 28.00
[_ HE)- 2 5+ 00RE 8 884
TE(fEHE[BE=0])
#4 VRS- £ T i SMEEREE (5 T2)= (90+80)*2-8*4+2*13.89=335.8 20.15
g L+ THEBI = Int(((175-70)/2)/10.0)+1=6
T K= 335.86/100=20.15 M
#4 SME - R SV 45 K BE (%)= (90+80)*2-8*4+2*13.89=335.8 13.43
g o R EEER= Int(((175-70)/2)/15.0)+1=4
rh i K= 335.8*4/100=13.43 M
#4 SMERR-RE S\45E R BE (%)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFER,E | XOKE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 A *2=219.6 )
Y(EE)RRE(FH )= (80-2*[{REE]14+2*[135E & §7]13.9)
*2=199.6
#4 Bip- LTI #4_F T iREI2= Int(((175-70)/2)/10.0)+1=6 25.1
< L TFik#E K= (219.6+199.6)*6/100=25.1 M
#4 BB -th R i #4rh RIREIEL= Int(((175-70)/2)/15.0)+1=4 16.8
<7 bR = (219.6+199.6)*4/100=16.8 M
#4 BhH-BERE HAR B EHEE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERTE:

EBRE M (R1)XHX ($2)X-#X
ABHEH:(H01)16-#8 (#A2)X-#X
BIERE(1)ME:8-T*6

EhRETE:

F42HR:(90+80)*2*175/10000=5.95 M2

HRGE AR AR ORR:

55:1i8:-(B12) 45*60/10000=0.27
%:25%:-(G17) 50*65/10000=0.33

%:3:8:-(CB12)

45*60/10000=0.27

%:45%:-(G18) 50*70/10000=0.35
LLE/NVET:1.22 M2

FERRE AR AR O BR:

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%5:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.2240 M2

FEHE AR RO RR:

1 (R E)-:G17=15*(146-65)/10000=0.12
LLE/NER:0.12 M2
AR AEET:5.95-[AE R 3L . 22-[#E MR 3T $£]0.22-[#F #5 32 $£]0.12=4.39 M2

RCEH&E:

90*80*175/1000000= 1.260 M3

Mt HAER:

#4=128.334 M (128.334 M*0.994/1000= 0.1276 T)
#8=28.000 M (28.000 M*3.980/1000=0.1114 T)

$MER/INET =0.2390 T
BAR/INET () = 4.39 M2
JREE /NG = 1.260 M3

PNA21-01-#£f&: 4F , #4K5%: C17, LB 5% 50 [X11:+38,Y12:-46] R~F: 90 cm * 80 cm , #&: 175.0 cm
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#8 TH(EE- L EE (175+0.00)*16/100 28.00
[_ Fo) 2 5+ 00 R R B3
TE(HBHE[EE=0))
#4 S\MEAR- £ T iR 55 R BE(H2)= (90+80)*2-8*4+2*13.89=335.8 20.15
g T = Int(((175-70)/2)/10.0)+1=6
T R= 335.86/100=20.15 M
#4 VAS T RaE S 5\ iE R BE(H2)= (90+80)*2-8*4+2*13.89=335.8 13.43
g R 2R= Int(((175-70)/2)/15.0)+1=4
th i #a K= 335.8*4/100=13.43 M
#4 VAS il R 55 R BE ()= (90+80)*2-8*4+2%13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135F & £4]13.9)
<7 EM *2=219.6 ]
Y(EE)ARE )= (80-2 R #B]4+2*[135F & $7]13.9)
*2=199.6
#4 B - LT #4_ T UREB= Int(((175-70)/2)/10.0)+1=6 25.1
</ E T R= (219.6+199.6)*6/100=25.1 M
#4 BE-hRim #4rh RIFBEIEL= Int(((175-70)/2)/15.0)+1=4 16.8
<7 i K= (219.6+199.6)*4/100=16.8 M
#4 BH-REE HARZ ERE R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3

RSt R:

EBEEEEFR1)XH#X (JH2)X-#X
ABA LS (481)16-#8 ($B2)X-#X
ERBE(1 BT 16X

BhRETE:

F 1% hfR:(90+80)*2*175/10000=5.95 M2

HEEEAR RO

%:158:-(B11) 45*60/10000=0.27
25:2i8:-(G14) 50*70/10000=0.35
5:35%:-(B12) 45*60/10000=0.27
%:458:-(G15) 50*70/10000=0.35
LLE/NET:1.24 M2

MR AR MR O PR

%:158:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%5:35%:30.00*16/10000=0.0480
%5:45%:40.00*16/10000=0.0640
LL_E/VET:0.2240 M2

RS E AR RO PR:

Ll E/NEH0.00 M2
R AEET:5.95-[FE R R HE]1.24-[#E Il 3 $5]0.22-[#F 15 XX $%]0.00=4.49 M2

RCEHE:

90*80*175/1000000= 1.260 M3

P EER:

#4=128.334 M (128.334 M*0.994/1000= 0.1276 T)
#8=28.000 M (28.000 M*3.980/1000=0.1114 T)

$MRR/INET =0.2390 T

HBAR/NET(E) = 4.49 M2
SR /NET = 1.260 M3

PNA21-01-1£&: 4F , #£4K5%: C19, fIE F3%: 53 [X12:-151,Y10:+86] R~t: 90 cm * 80 cm, #£5: 75.0 cm

U

#8 (- LB (75+0.00)*16/100 12.00
r HE)- 3 B+ 00K 8 B3l
S ({5 =0))
N iEf- L T in %?ﬁﬁ]g(ﬁﬁ?F (90+80)*2-8*4+2%13.89=335.8 3.36

L+ T HEES= Int((75-70)/2)/10.0)+1=1
L T4 E= 335.81/100=3.36 M
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#4 SMERR-Th R SR EE(F )= (90+80)*2-8*4+2*13.89=335.8 3.36
@ rh R B= Int(((75-70)/2)/15.0)+1=1
TR #E K= 335.8%1/100=3.36 M
#4 o\ A7 - BR S\ E(F#2)= (90+80)*2-8*4+2%13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEHR-KERE | XOKF)RREHBHE)= (90-2*[REE]4+2*[135E E$7]13.9)
</ E[A *2=219.6 .
Y(EE)AREHRHE)= (80-2[REE4+2*[135EE$7]13.9)
*2=199.6
#4 Bi5-ETiE #4 + TFiHEB= Int(((75-70)/2)/10.0)+1=1 42
<7 LT E= (219.6+199.6)*1/100=4.2 M
#4 BE-PRin #4rh RIGEE E= Int(((75-70)/2)/15.0)+1=1 4.2
</ TR iE R = (219.6+199.6)*1/100=4.2 M
#4 BE-BREE HARZEHR=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EERTE:

BRI GRNXHX (FB2)X-#X
AR (FE1)16-#8 ($H2)X-#X
BIE2RE(1)4:8-T*16%
BhRET &
F1ERR:(90+80)*2*75/10000=2.55 M2
PR E AR MO RR:
%:1i8:-(G11) 50*70/10000=0.35
Ll _E/NEE:0.35 M2
FERRE AR M0 B
%:1i8:80.00*16/10000=0.1280
%5:28:90.00*16/10000=0.1440
%5:3i2:80.00*16/10000=0.1280
%5:43%:40.00*16/10000=0.0640
LL_E/VE:0.4640 M2
AN E AR R O B
E 1 (MRE)-:S1=15%(75-16)/10000=0.09
TN 2(F BonB ZE):=15%(125-0)/10000=0.19
Ll _E/NET:0.28 M2
ﬁm%rﬁgﬁ:2.55-[#31%@3*&?&]o.35-[*1#&3??&]0.46-[*15%&?&]0.2&1 46 M2
RCE&E:
90*80*75/1000000= 0.540 M3

Mt EHER:
#4=67.941 M (67.941 M*0.994/1000= 0.0675 T)
#8=12.000 M (12.000 M*3.980/1000= 0.0478 T)
$MAs/NEL =0.1153 T
BAR/INET(E) = 1.46 M2
iRk /NET = 0.540 M3

PNA21-01-#£8: 4F , #£C8%: C18, fiB F 5 45 [X9:-228,Y13:+71] R~: 90 cm * 80 cm , #&: 225.0 cm

#8 TH(FE1HE-LEE (225+0.00)*16/100 36.00
r HE)- B+ 00RE 2 738
TE (1[I #E=0])
#4 SMERR-L T i HMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g L+ THEBIE= Int(((225-70)/2)/10.0)+1=8
L+ FiE#ER= 335.8*8/100=26.86 M
#4 SME - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 20.15
g th AT 2= Int(((225-70)/2)/15.0)+1=6
th R fimf@ K= 335.8*6/100=20.15 M
#4 SME - SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BT #4 & T E = Int((225-70)/2)/10.0)+1=8 33.5
<2 LT E= (219.6+199.6)*8/100=33.5 M
#4 B-rh i #4th R IHE = Int(((225-70)/2)/15.0)+1=6 25.1
<7 R 48 £ = (219.6+199.6)*6/100=25.1 M
#4 BE-BEE HARFEHE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBRE T (R1)XHX ($2)X-#X
ABAEE:(101)16-#8 ($B2)X-#X
BIERE(1)ME:8-T*6%

BhREHE:

F 1% hfr:(90+80)*2*225/10000=7.65 M2

HEEERAR MO

%:1i2:-(B12) 45*60/10000=0.27
%:2i%:-(G18) 50*70/10000=0.35
%:3i%:-(CB12) 45*60/10000=0.27
LA E/NE:0.89 M2

HEMRE R AR M 0 PR

%:15%:30.00*16/10000=0.0480
%:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:90.00*16/10000=0.1440
LLE/VET:0.3040 M2

RSB R AR M O PR

TE 1 (R E)-:B12=15%(225-60)/10000=0.25
E 2 (3 SonE XE):=15%(225-0)/10000=0.34
S 3(FRE)-:G18=15%(200-70)/10000=0.20
Ll E/NEH0.78 M2
AR AEET:7.65-[AE R 3 $%]0.89-[#E hin 32 $£]0. 30-[#F 5 32 $£]0.78=5.68 M2

RCEtH&E:

90*80*225/1000000= 1.620 M3

MAnEt HAER:

#4=158.530 M (158.530 M*0.994/1000= 0.1576 T)
#8=36.000 M (36.000 M*3.980/1000= 0.1433 T)

$MA5/NET = 0.3009 T
BAR/NVET(E) = 5.68 M2
R /NET = 1.620 M3

PNA21-01-#88: 4F , #HL5%: C17, MEF5%:

44 [X9:-144,Y12:+98] R~:90 cm * 80 cm , & 225.0 cm

#8 TR L EE (225+0.00)*16/100 36.00
r HE)- & £+ O0RE 2 38
TE(fEE[EE=0])
#4 SV fR- T iR s\E R B (HT4)= (90+80)*2-8*4+2*13.89=335.8 26.86
@ TR E= Int(((225-70)/2)/10.0)+1=8
L+ THE#E K= 335.8*8/100=26.86 M
#4 SMERR-h R S\E R B (HT5)= (90+80)*2-8*4+2*13.89=335.8 20.15
@ rh B 2R= Int(((225-70)/2)/15.0)+1=6
fh R AR = 335.8*6/100=20.15 M
#4 S\ ERR- R S\E R EE(HT2)= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
EHERR-/KFER,E X(KF)RRE(HR4E)= (90-2*[{R#EB4+2*[135F & $7]13.9)
<2 ER *2=219.6 )
Y(EE)ERE(HH4T)= (80-2*[{FHEB14+2*[135F € 45]13.9)
*2=199.6
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#4 B5- £ Tin #4_F TR 8= Int(((225-70)/2)/10.0)+1=8 33.5
<7 E T R= (219.6+199.6)*8/100=33.5 M
#4 BE-hRin #4rh RIG B ER= Int(((225-70)/2)/15.0)+1=6 25.1
<7 th i K= (219.6+199.6)*6/100=25.1 M
#4 BH-BERE HAR B EHER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
fEEsTE:

FEAEERER)XEX ($2)X-#X
REHRTE:(HE1)16-48 (FA2)X-#X
EESRE(1)#H:8-T16X
EhRETE:
FHEHR:(90+80)*2*225/10000=7.65 M2
AR E AR IO
%:138:-(B11) 45*60/10000=0.27
%:2i%:-(G15) 50*70/10000=0.35
%:3i8:-(B12) 45*60/10000=0.27
LL_E/NE:0.89 M2
FERRE R RO RR:
%5:1i%£:30.00*16/10000=0.0480
%:2i%:40.00*16/10000=0.0640
%5:3i%:30.00*16/10000=0.0480
%:4i%£:90.00*16/10000=0.1440
LL_E/NEH:0.3040 M2
RS E R AR IO RR:
E 1 (E S onE ZE):=15%(225-0)/10000=0.34
E 2 (3 SonE X ):=15%(225-0)/10000=0.34
T 3B )-:S1=15%(120-16)/10000=0.16
LL_E/NE0.83 M2
ﬁm%rﬁg?r:7.65-[#31%@3??&]0.89-[&#&3??&]o.30-[*15%&?&]0.8%5.63 M2
RCEtHE:
90*80*225/1000000= 1.620 M3

Mt EHER:
#4=158.530 M (158.530 M*0.994/1000= 0.1576 T)
#8=36.000 M (36.000 M*3.980/1000= 0.1433 T)
$MAR/NET =0.3009 T
BAR/NET(E) = 5.63 M2
JREE /NG = 1.620 M3
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